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Section : Part A General Intelligence and Reasoning

Q.1 Select the number from among the given options that can replace the question mark
(?) in the following series.

38, 42, 58, 94, ?, 258

Ans X 1.164

75 2.108
75 3.152
" 4. 158

Question ID : 65497833684
Status : Answered
Chosen Option : 4

Q.2 39 faeed &1 ga7 H oY AR 31gR-Ag A 3 TR Hafda &, 5T TR gERT HeR-HYE uget
31&R-THg | Heifda &1

DHM : GCX
Ans & 1. NJE

< 2.NHD

< 3.NIE
< 4. NKL

KOT:?

Question ID : 65497833686
Status : Answered
Chosen Option : 1
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Ans

<1

Question ID : 65497833677
Status : Answered
Chosen Option : 4

Q.4 39 37eRY F FAIH BT TA B GRS sjEe b R [ ¥ fie B A W TF W G
quf gnft
PE__LEP__PLE__OP__
Ans X 1. OPEOPLEE
7< 2. OPOEPELE
«” 3. OPEOPELE
7< 4. OPOEEPLE

Question ID : 65497833690
Status : Answered
Chosen Option : 3




Q.5 Select the Venn diagram that best represents the relationship between the following classes.

Human, Male, Animal

(H: Human: M: Male; A: Animal)

)
(@

Question ID : 65497833681
Status : Answered
Chosen Option : 1

Q.6 iy 7Ty fasel A | 39 31gR-HHg HT T4 HIfoY ol [ T § Hearas g (?) & =AW
31T bt 81

YEM, BHP, EKS, HNV, ?
Ans 1. KQY
25 2. KRX
< 3.LNU
X 4.KPZ

Question ID : 65497833678
Status : Answered
Chosen Option : 1

Q.7 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
All kites are planes.
All planes are papers.

Conclusions:
I. All kites are papers.
Il. No paper is a plane.

Ans X 1. Neither conclusion | nor Il follows
#< 2. Both conclusions | and Il follow
25 3. Only conclusion Il follows

" 4. Only conclusion | follows

Question ID : 65497833694
Status : Answered
Chosen Option : 4




Q.8 Six friends, A, B, C, D, E and F, are sitting opposite to each other in a circle, facing
towards the centre. C and D are adjacent to each other. Also, B and F are adjacent to
each other. E is sitting opposite to B. F is sitting to the left of B. Who is sitting between
E and F?

Ans 1A
X 2F
X 3.E
X 4B

Question ID : 65497833680
Status : Answered
Chosen Option : 1

Q.9 ‘cloth’ is related to ‘Cotton’ in the same way as ‘Flour’ is related to *
Ans X 1.Food

< 2. Chapatti
«¥ 3. Wheat
5 4. Tiles

Question ID : 65497833679
Status : Answered
Chosen Option : 3

Q.10 In a certain code language, REMAIN is coded as 92214261813. How will MACHINE be
coded in that language?

Ans X 1.131389145
o 2. 14262419181322
7< 3.22131819242614
75 4.514981313

Question ID : 65497833683
Status : Answered
Chosen Option : 2

Q11 If,5+7=473+8=359+2=29then,7+4="7°
Ans X 1.42

X 2.45
X< 3.37
o 4.39

Question ID : 65497833696
Status : Not Answered
Chosen Option : --




Q.12 Study the given pattern carefully and select the number that can replace the question
mark (?) in it.

73433

574
22568

Ans X 1.225
X 2.250
X 3.525
o 4.625

Question ID : 65497833695
Status : Answered
Chosen Option : 4

Q.13 33 farea &1 gg= H St diet FEa J 39 weR Hafta § o wer gl S ugel e ¥
wdfta &1

7:56::13:7
Ans X 1.92
X278

X 3.67
o 4.104

Question ID : 65497833674
Status : Answered
Chosen Option : 4

Q.14 Six friends,Ravi, Kavya, Mahima, Gita, Mohan and Neha, are sitting in a straight line, all
facing the north. Kavya is not sitting at either of the ends. Neha is sitting between Ravi
and Mohan. Mohan is sitting to the immediate right of Gita. There are three friends
sitting between Ravi and Kavya. Kavya is sitting to the immediate right of Mahima.
Who is sitting at the fifth position from the left end?

Ans X 1.Gita
«" 2. Neha

75 3.Kavya
75 4. Mohan

Question ID : 65497833673
Status : Answered
Chosen Option : 3

Q.15 Which two numbers (NOT digits) should be interchanged to make the given equation
correct?

5x40+8+3-14=53
Ans X 1.8and 14
X 2.5and 3
«" 3.5and 8
/< 4.8and 3

Question ID : 65497833675
Status : Answered
Chosen Option : 3




Q.16 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Goffer
2. Goblin
3. Goatling
4. Goatish
5. Goer

Ans X 1.4,2,3,5,1
24,3251
X 3.4,3521
X 4.4,2,531

Question ID : 65497833689
Status : Answered
Chosen Option : 2

Q.17 In a certain code language, 'LECTURE' is written as 'MGFXZXL' and 'TEACHER' is
written as 'UGDGMKY'. How will 'STUDENT" be written in that language?

Ans X 1. TVXJHTA
75 2. TVWHJTA
o 3. TVXHJTA
< 4. TVWJHTA

Question ID : 65497833687
Status : Answered
Chosen Option : 3

Q.18 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Ans
O 0
x 1.
o 0O
X2 o 0
o 0O
o0
o 3.
C_0O
x4 o 0
Q_0

Question ID : 65497833697
Status : Answered
Chosen Option : 3
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Question ID : 65497833685

Status : Answered

Chosen Option : 2

Q.20 gR 37gR-wg g MY § o A A7 frelt a0 F s & 3ik v = 31 5 srer-wgg
gfmi

Ans o 1.NTD
72X 2.RTI

< 3.Q8J
< 4.EGV

Chosen

Question ID : 65497833682

Status : Answered
Option : 1

Q.21 Two different positions of the same dice marked with the numbers 4, 5, 6, 7, 8 and 9 are shown.

Select the number that will be on the face opposite to the face having the number '9".

)

Ans X1 g

Question ID : 65497833676

Status : Answered

Chosen Option : 3
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Ans

Question ID : 65497833692

Status : Answered

Chosen Option : 4

Q.23 In a certain code language, ‘BOOK’ is written as ‘CRTR’. How will ‘PETROL’ be written
in that language?

Ans X 1.QIXYYW
& 2. QHYYXW
X 3. HYXXW
X 4. QHXYXW

Question ID : 65497833693

Status : Answered

Chosen Option : 2

Q.24 {3y 7y fawel ¥ ¥ a5 Wom g 6 R § 7 sjwen ¥ wed fiig (?) F T W @ o g f1
9,14, 34,114, 2, 1714
Ans X 1.524

X 2.914
X 3.654
o 4.434

Question ID : 65497833691

Status : Answered

Chosen Option : 4




Q.25 L is the mother of M. L has only two children. N is the sister of M. N is the daughter of
K. Z is the grandson of K. O is the mother of Z. How is O related to N?

Ans X 1. Sister
75 2. Mother
25 3. Wife
” 4. Sister-in-law

Question ID : 65497833688
Status : Answered
Chosen Option : 4

Section : Part B General Knolwedge and General Awareness

Q.1 The Right to Information Act is a good example of a law and it has more chances of
working because:

Ans X 1.it eases penalties on frauds
#< 2. it acts as an enemy of democracy
#< 3. it supplements laws that encourage corruption

" 4. it empowers people to find out what is happening in the government

Question ID : 65497833714
Status : Answered
Chosen Option : 4

Q.2 In which of the following states is Saryu river located?
Ans X 1. West Bengal

25 2. Himachal Pradesh
¥ 3. Uttarakhand
75 4. Chhattisgarh

Question ID : 65497833704
Status : Answered
Chosen Option : 3

Q.3 Different crops grown in alternate rows is an example of:

Ans  4# 1. intercropping
#< 2. contour cropping
#< 3. combined cropping
#< 4. mixed cropping

Question ID : 65497833711
Status : Answered
Chosen Option : 4

Q.4 What was the rank of India in the final medals tally of Commonwealth Games 20187
Ans 4 1. Third

#< 2. Fourth
3. Fifth
#< 4. Second

Question ID : 65497833715
Status : Not Answered
Chosen Option : --




Q.5 Ballabhgarh became an important trading centre under the leadership of the Jat ruler

Ans X 1.Raja Ram
" 2. Suraj Mal
#< 3. Randhir Singh
75 4. Badan Singh

Question ID : 65497833713
Status : Not Answered
Chosen Option : --

Q.6 Which of the following is NOT an abiotic component of the eco system?
Ans X 1. Temperature

¥ 2. Living organisms
75 3. Minerals
25 4. Wind

Question ID : 65497833717
Status : Answered
Chosen Option : 2

Q.7 In which of the following countries was paper invented approximately 1900 years ago?

Ans X 1.Japan
" 2. China

75 3. Nepal
X 4. India

Question ID : 65497833718
Status : Answered
Chosen Option : 2

Q.8 In which of the following places is the Vulture Conservation and Breeding Centre
located?

Ans X 1.Pushkar
" 2. Pinjore
25 3. Rampur
X 4. Agra

Question ID : 65497833701
Status : Answered
Chosen Option : 3

Q.9 Where is the active volcano found in India?
Ans X 1.Lakshadweep

4" 2. Andaman and Nicobar
75 3.Goa
25 4. Puducherry

Question ID : 65497833708
Status : Answered
Chosen Option : 2




Q.10 Which of the following is non-justiciable in nature in Indian Constitution?
Ans X 1.Equality of law and equal protection of law

75 2. Protection with respect to conviction of offences
¥ 3. Equal justice and free legal aid

75 4. Freedom to manage religious affairs

Question ID : 65497833705
Status : Answered
Chosen Option : 3

Q.11 In which state was the special awareness campaign for women ‘Mission Shakti’
launched in October 20207

Ans X 1.Bihar
75 2. Madhya Pradesh
«# 3. Uttar Pradesh
#< 4. Punjab

Question ID : 65497833706
Status : Answered
Chosen Option : 3

Q.12 Who was the Governor General of British India when the annexation of Punjab was
carried out by the Britishers?

Ans X 1.Lord Canning
«" 2. Lord Dalhousie
#< 3. Lord Harding
#< 4. Lord Ellenborough

Question ID : 65497833722
Status : Answered
Chosen Option : 2

Q.13 The Kelkar Committee 2015 is related to the
Ans X 1. calculation of GDP

#< 2. fixation of poverty line
25 3. merger of banks

«# 4. PPP model of infrastructure development

Question ID : 65497833699
Status : Answered
Chosen Option : 4

Q.14 According to the Public Affairs Index 2020, which among the following has been
adjudged the best governed union territory in the category of UTs?

Ans X 1. Puducherry
¥ 2. Chandigarh
75 3. Ladakh
75 4. Jammu and Kashmir

Question ID : 65497833716
Status : Answered
Chosen Option : 2




Q.15 Who among the following was adjudged as the 'Most Valuable Player of the
Tournament' at the Indian Premier League 2020?

Ans X 1. Jasprit Bumrah
75 2. Kagiso Rabada
25 3. KL Rahul
# 4. Jofra Archer

Question ID : 65497833703
Status : Answered
Chosen Option : 2

Q.16 In which year did the first Bengali woman writer Ashapoorna Devi win the Jnanpith
Award?

Ans X 1.1974
o 2.1976
X 3.1975
X 4.1973

Question ID : 65497833709
Status : Answered
Chosen Option : 2

Q.17 Which private bank launched a remote payment service named 'SMS Pay' for
merchants on 26 November 20207

Ans X 1. Axis Bank
25 2.ICICI Bank
" 3. Yes Bank
#< 4. HDFC Bank

Question ID : 65497833721
Status : Answered
Chosen Option : 2

Q.18 To which nation does swimmer Gaurika Singh, who was the youngest athlete in Rio
Olympics 2016, belong to?

Ans X 1. Pakistan
" 2. Nepal
#< 3. Bangladesh
X 4.India

Question ID : 65497833710
Status : Answered
Chosen Option : 4

Q.19 Which of the following countries is the second largest cotton producer in the world as
of October 20207

Ans X 1.Tbet
#< 2. Bangladesh

" 3. India
#< 4. China

Question ID : 65497833719
Status : Answered
Chosen Option : 4




Ans

Q.20 Who among the following was the recipient of the 29th Vyas Samman?

25 1. Leeladhar Jagoori
¥ 2. Nasera Sharma
75 3. Surendra Verma
75 4. Mamta Kalia

Question ID : 65497833702
Status : Answered
Chosen Option : 1

Ans

Q.21 Saila dance form is performed in the state of

25 1. Jharkhand
#< 2. Uttar Pradesh
" 3. Chhattisgarh
#< 4. Uttarakhand

Question ID : 65497833707
Status : Answered
Chosen Option : 1

Ans

Q.22

is secreted by the pineal gland.
«” 1. Melatonin

75 2. Progesterone
75 3. Epinephrine
25 4. Insulin

Question ID : 65497833700
Status : Answered
Chosen Option : 1

Ans

Q.23 Which of the following temples is located in Sri Lanka?

" 1. Munneswaram
75 2. Preah Vihear
75 3. Katas Raj

#< 4. Pashupatinath

Question ID : 65497833698
Status : Not Answered
Chosen Option : --

Ans

25 1. silver

#< 2. precious gold
75 3. bronze
¥ 4. cheap metals

Q.24 Muhammad Tughluq used 'token’ currency to pay his soldiers, which was made out of:

Question ID : 65497833712
Status : Answered
Chosen Option : 2




Q.25 Reserve Bank of India put which bank under moratorium in November 20207
Ans X 1. State Bank of India

¥ 2. Lakshmi Vilas Bank
75 3. Bank of India
75 4. Bank of Baroda

Question ID : 65497833720
Status : Answered
Chosen Option : 2

Section : Part C Elementary Mathematics

Q.1 Two positive numbers are in the ratio of 7 : 4. If the difference between their squares is 297, then the sum of the two
numbers is:

Ans X1 35
« 2. 33
X3 32
X4 42

Question ID : 65497833727
Status : Answered
Chosen Option : 2

Q.2 A fruit seller had some apples. He sold 40% apples and still had 540 apples. The number of apples he had originally

was:

Ans X1, 600
X 2. 800
X 3. 740
« 4. 900

Question ID : 65497833733
Status : Answered
Chosen Option : 4

Q.3 Excluding stoppages, the speed of a bus is 60 kmv'h and including stoppages, it is 42 km/h. For how many minutes does
the bus stop per hour?

Ans X 1. 12
2 18
X309
X410

Question ID : 65497833735
Status : Answered
Chosen Option : 2




Q.4 1na sale, perfumes are available at a discount of 25% on the selling price. If a perfume costs T6,873 in the sale, what is
the original selling price of the perfume?

Ans X 1. 39,146
X 2. 39,066
X 3. 39,064
v 4 79,164

Question ID : 65497833732
Status : Not Answered
Chosen Option : --

Q.5 what s the compound interest (in T, nearest to a ¥) on a sum of I8,000 for 2% years at the rate of 16% p.a.. interest
compounded yearly?

Ans X1, 2,840
X 2. 2,790
X3 2,765
4 2,980

Question ID : 65497833745
Status : Not Answered
Chosen Option : --

Q.6 The monthly salaries of an officer and a clerk are in the ratio 11 : 4. If the monthly salary of the officer increases by
<7,000 and that of the clerk by 3,000, then the ratio becomes 19 : 7. What was the initial salary (in ) of the officer?

Ans 1. 88,000
X 2. 1,52,000
X 3. 56,000
X 4. 32,000

Question ID : 65497833725
Status : Answered
Chosen Option : 1

Q.7 Oune year ago, the ratio of the ages of A and B was 4 : 3. The ratio of their ages, after 7 years from now, will be 9: 7.
What is the present age (in years) of B?

Ans s 1 40
X252
X3 51
X4 48

Question ID : 65497833744
Status : Answered
Chosen Option : 4




Q8 The HCF of 3073, 1756 and 4829 is x . The product of the digits of x is:
Ans X 1. 0§

X2 72

X3 81

« 4 108

Question ID : 65497833742
Status : Not Answered
Chosen Option : --

Q.9 Find the compound interest, if T3,000 was invested for 3 years at 20% p.a., interest compounded half yearly (nearest to
a rupee).

Ans 1. 32,010
X2 32,301
X3 32,110
¢4 32315

Question ID : 65497833730
Status : Not Answered
Chosen Option : --

Q.10 Aman spends 74% of his income. If his expenditure increases by 30% and savings increase by 25%, then by what
percentage will his income increase?

Ans @ 1. 28.7%
X2 26.8%
X3 27.8%
X4 27.2%

Question ID : 65497833743
Status : Answered
Chosen Option : 1

QM The area (inm? ) of a triangular field, whose sides are 85 m, 85 m and 154 m, is:
Ans X1, 2768

X2 2872

3 2772

X 4. 2868

Question ID : 65497833746
Status : Not Answered
Chosen Option : --




Q.12 15 boys can complete a work in 10 days and 12 girls can complete the same work in 15 days. If all 15 boys and 12 girls

work together, in how many days, will the work get completed?
Ans 1. 6
X2 8
X3 4
X4 5

Question ID : 65497833739
Status : Answered
Chosen Option : 1

Q.13 By selling a guitar for T846, Rakhi loses 6%. For how much should Rima sell it to gain 8§%?
Ans X 1. %912

X 2. 002

« 3. 3972

X4 F022

Question ID : 65497833729
Status : Answered
Chosen Option : 3

Q14 1f the volume of a cube is 192+/3 cubic cm, then the length of its diagonal is:

Ans X1 16 cm
X2 l4cm
X3 13cm
4 12 cm

Question ID : 65497833728
Status : Answered
Chosen Option : 4

Q13 (1 ><§+ 110f2)+(§+ 12-:11"{—1)—(1—1 xl)a;rmﬂ'ﬁmﬂﬁfﬂ?m

Ans

Question ID : 65497833740
Status : Answered
Chosen Option : 1




Q.16 The average of six numbers A, B, C. D, E and F is 58. If the first number A is two-fifth of the sum of B and C, and is
also equal to three-fourth of the sum of D, E and F, then what is the value of the sum of B and C?

Ans 1. 180
<2 360
X3 116
X4 240

Question ID : 65497833724
Status : Not Answered
Chosen Option : --

Q.17 Which is the greatest number of seven digits, which when divided by 10, 15, 20, 24 and 30, leaves the remainders 6, 11,
16, 20 and 26, respectively?

Ans X 1. 9999960
+ 2. 9999956
3. 9999980
X 4. 9999976

Question ID : 65497833723
Status : Answered
Chosen Option : 2

Q.18 A can complete a work in 10 days and B can complete it in 15 days. If they work on it together for 5 days, then the
fraction of the work left will be:

Ans 1 16
X2 1/2
X3 1/3
X4 1/8

Question ID : 65497833734
Status : Answered
Chosen Option : 1

Q.19 One-third of the goods are sold at 15% profit, 25% of the goods are sold at 20% profit, and the rest of the goods are sold
at 10% loss. If a profit of T350 is earned in the entire transaction, then the original value of the goods (in ¥) is:

Ans X 1. 5.400
X2 7,200
X 39,000
« 4 6,000

Question ID : 65497833747
Status : Not Answered
Chosen Option : --




Ans X 1. 20
X212
v 3 14
X410

Q.20 12— [3+{40f2+-8—(8—6=3)}] =T AT AT m@ﬁ

Question ID : 65497833737
Status : Answered
Chosen Option : 3

Ans 1. 22,500
X2 324,000
X3 %21,725
v 4 21,000

Q.21 A man incurred 8% loss by selling a TV for ¥18,400. At what price should the TV be sold to earn 5% profit?

Question ID : 65497833738
Status : Answered
Chosen Option : 4

Q.22

Ans  X'1. 74 km/h
2. 71.72 km/h
<3 72,7 km/h
X 4.70.73 km/h

The distance between two stations A and B is 700 k. A train covers the journey from A to B at a speed of 80 kmvh and
returns back to A with a uniform speed of 65 kn/h. The average speed of train during the whole journey, is closest to:

Question ID : 65497833731
Status : Answered
Chosen Option : 2

Ans X1 23%
X2 27.3%

o 3. 22.252%
X4 22%

Q.23 A single discount equivalent to three successive discounts i.e. 7%, 12% and 5%. is:

Question ID : 65497833736
Status : Answered
Chosen Option : 1




Q.24 4 certain sum amounts to T12,740 in 4 vears and to T15.925 in 7% years at the same rate percentage per annum at

simple interest. The sum (in ) and the rate percentage per annum, respectively, are:

Ans X 1. F7.800; 10%
¢ 2 39,100; 10%
x 3. T7,800; 7.5%
X 4. %9,100; 7.5%

Question ID : 65497833726
Status : Not Answered
Chosen Option : --

Q.25 A 253 mlong train running at a speed of 60 kim/h takes 42 seconds to cross a bridge. The length (in m) of the bridge is:

Ans #1447
X 2. 435
X3 443
X4 427

Question ID : 65497833741
Status : Answered
Chosen Option : 1

Section : Part D English

Q.1 Select the most appropriate synonym of the given word.
Enjoyable
Ans X 1. Bright
#< 2. Cloudy
" 3. Delightful
75 4. Beautiful

Question ID : 65497833754
Status : Not Answered
Chosen Option : --

Q.2 Select the most appropriate synonym of the given word.

DEFER
Ans X 1. Conflict

«" 2. Postpone
#< 3. Balance
#< 4. Match

Question ID : 65497833765
Status : Not Answered
Chosen Option : --




Q.3 Select the option that can be used as a one-word substitute for the given group of
words.

Certain to happen

Ans X 1. Necessary
75 2. Predicted
«” 3. Inevitable
#< 4. Avoidable

Question ID : 65497833761
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate ANTONYM of the given word.
Reign
Ans X 1. Manage
" 2. Yield
25 3. Govern
#< 4. Influence

Question ID : 65497833755
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Don’t disturb me while | talk to someone on the phone.
Ans X 1.talked

" 2. am taking
#< 3. was talking
25 4. No substitution required

Question ID : 65497833748
Status : Not Answered
Chosen Option : --

Q.6 Select the most appropriate option to fill in the blank.

This antique sculpture is indeed
Ans X 1.endless

«# 2. priceless
75 3. helpless
75 4. harmless

Question ID : 65497833767
Status : Not Answered
Chosen Option : --




Q.7 Select the option that can be used as a one-word substitute for the given group of
words.

Eskimo’s house that is made of ice blocks
Ans 4 1.Igloo
#< 2. Burrow

#< 3.Den
75 4. Cave

Question ID : 65497833749
Status : Not Answered

Chosen Option : --

Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Who do you think / who stole / the painting / from the museum?
Ans X 1. Who do you think

75 2. the painting

75 3. from the museum

«” 4. who stole

Question ID : 65497833759
Status : Not Answered

Chosen Option : --

Q.9 Select the option that can be used as a one-word substitute for the given group of
words.

Unable to act
Ans o 1. Inert

X 2. Lazy
X 3.1dle
X 4. Lax

Question ID : 65497833766
Status : Not Answered
Chosen Option : --

Q.10 Select the most appropriate meaning of the given idiom.
Big bucks
Ans  # 1. Alot of money
2% 2. A big function
75 3. A big bucket
25 4. A big loss

Question ID : 65497833756
Status : Not Answered

Chosen Option : --




He ran towards his mother _______ and hugged her.
Ans o 1.gally

25 2. spitefully

7< 3. partially

X 4. eventually

Q.11 Select the most appropriate option to fill in the blank.

Question ID : 65497833751
Status : Not Answered
Chosen Option : --

Q.12 Select the INCORRECTLY spelt word.
Ans X 1. Miscreant

25 2. Misalliance
75 3. Misrepresent
" 4. Miscelleneous

Question ID : 65497833762
Status : Not Answered
Chosen Option : --

Q.13 Select the correctly spelt word.
Ans & 1. Bureaucracy

#< 2. Scavange
7< 3. Warrier
#< 4. Inheritence

Question ID : 65497833750
Status : Not Answered
Chosen Option : --

error, mark ‘No error’ as your answer.

Reva is / one of Gita’s best friend / in the class.
Ans 4 1. one of Gita’s best friend
25 2. No error
25 3.in the class
X 4.Revais

Q.14 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any

Question ID : 65497833764
Status : Not Answered
Chosen Option : --




Q.15 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

| thanked my teacher for explaining me the lesson.

Ans 4 1. explaining the lesson to me
#< 2. her explaining me the lesson
75 3. explain me the lessons

#< 4. No substitution required

Question ID : 65497833758
Status : Not Answered

Chosen Option : --

Q.16 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The laptop that | bought last week works very good.
Ans o 1. very well

75 2. very nice

75 3. too good

75 4. No substitution required

Question ID : 65497833757
Status : Not Answered

Chosen Option : --

Q.17 Select the most appropriate ANTONYM of the given word.
Crisp

Ans X 1.Hard

75 2. Fresh

#< 3. Rotten

" 4. Tender

Question ID : 65497833760
Status : Not Answered

Chosen Option : --

Q.18 Select the most appropriate meaning of the given idiom.
To break loose
Ans 4 1.7To escape
75 2. To untie
75 3. To set free
75 4. Toletgo

Question ID : 65497833763
Status : Not Answered
Chosen Option : --




Q.19 The following sentence has been split into four segments. Identify the segment that

Ans

contains a grammatical error.

The mountain / seems to steep / for us / to climb.
< 1. The mountain

< 2. to climb
< 3.forus

«" 4. seems to steep

Question ID : 65497833753
Status : Not Answered
Chosen Option : --

Q.20 Select the most appropriate option to fill in the blank.

Ans

Visitors come from all over the world to the Shalimar Gardens.

25 1. perceive
75 2. observe

«" 3. see
< 4. look

Question ID : 65497833752
Status : Not Answered
Chosen Option : --

Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Mahatma Gandhi was born (1) 2 October 1869 to Karamchand and Putlibai (2)
Porbandar. After completing his studies in England, he (3) to South Africa. When he
suffered (4) , he started the Civil Disobedience movement (5) civil rights of the
Indian community.

SubQuestion No : 21
Select the most appropriate option to fill in blank no. 1.

< 1. from
5 2. of
«" 3.0n
X 4.in

Question ID : 65497833769
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Mahatma Gandhi was born (1) 2 October 1869 to Karamchand and Putlibai (2)
Porbandar. After completing his studies in England, he (3) to South Africa. When he
suffered (4) , he started the Civil Disobedience movement (5) civil rights of the
Indian community.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans 1. at

< 2. through
< 3. above
25 4. below

Question ID : 65497833770
Status : Not Answered
Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Mahatma Gandhi was born (1) 2 October 1869 to Karamchand and Putlibai (2)
Porbandar. After completing his studies in England, he (3) to South Africa. When he
suffered (4) , he started the Civil Disobedience movement (5) civil rights of the
Indian community.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans X 1.gone

o 2. went
25 3. going
25 4. will go

Question ID : 65497833771
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Mahatma Gandhi was born (1) 2 October 1869 to Karamchand and Putlibai (2)
Porbandar. After completing his studies in England, he (3) to South Africa. When he
suffered (4) , he started the Civil Disobedience movement (5) civil rights of the
Indian community.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans X 1. delegation

¥ 2. discrimination
25 3. deterioration
/< 4. distinction

Question ID : 65497833772
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Mahatma Gandhi was born (1) 2 October 1869 to Karamchand and Putlibai (2)
Porbandar. After completing his studies in England, he (3) to South Africa. When he
suffered (4) , he started the Civil Disobedience movement (5) civil rights of the
Indian community.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans X 1.to

" 2. for
25 3. after

X 4. with

Question ID : 65497833773
Status : Not Answered
Chosen Option : --

Section : Part D Hindi

Q.1 AR eI #1 3fea 2 fafET)
Ans X' 1. H3pd

o 2. =

7< 3. ot

X 4. TSt

Question ID : 65497833790
Status : Answered
Chosen Option : 2

Q.2 fg 7y are # I@ifca @s P Afdwnfid F & fay Ha 3uga fade & 9a4 &) af 9
HfReATTod A I 3raadwdr T8 &, A fabeq Bt aeeta HY smaegwar T8 ¥ &1 T B
# 31 @I T
Ans X 1. WY@
7< 2. foft geeTa Y 3TgLT AT TE B
X 3.hR
o 4.

Question ID : 65497833783
Status : Answered
Chosen Option : 4

Q.3 e T WA & o7 Jad IuG A BT AT HR|

N HFRIREAR  UeT-awoTHT_ F
Ans X 1. g7
X 2. 3R
25 3. 3MUR
o 4. TR@

Question ID : 65497833776
Status : Answered
Chosen Option : 4




Q4 Ry arr ¥ Yaifisa ss B wfeenfia w0 & fog wad swge e o1 a7 w3 ok &
wferenfia & B saeawar 781 §, Y Rieer fslt agera B smaegswar 18 & &1 o w1

3ifeies TS 3% FuArs] B I A #1
Ans X 1 faft geeTTa B HTgegDBar A
o 2. 3% TR B o &t B
X 3. 30 % aaET B o &t £
X 4. 37 guenl & 5 &t

Question ID : 65497833777
Status : Answered
Chosen Option : 2

Q5 gt &1 guaArE AAT YErad BT WEt 3vef §-
Ans 1 e s wra fiea ga B are 3
X 2. 3dtd W IRar=d g
X 3. wae & wwa fiea g@ & are AT
X 4. 31cd FE= BT

Question ID : 65497833789
Status : Answered
Chosen Option : 3

Q6 AR aaF awm AR 2

et 3 €t g B fgoraT & @ e §
Ans X 1.ﬁ'gtr|a1'\ﬁ
o 2. %ad AT R
X 3. gEam
X 4. R gHd B

Question ID : 65497833784
Status : Answered
Chosen Option : 1

Q.7 Ry 7y 2Rz ¥ AR 21 @1 T B

W
Ans )(1_3{‘
& 2.aM
X 3.7
X 4. wela

Question ID : 65497833779
Status : Answered
Chosen Option : 2




Q.8 Wt ad arer 2Rz BT T BRI
Ans X 1 gfam

2. uftomy

X 3. wdom

X 4. 9w

Question ID : 65497833774
Status : Answered
Chosen Option : 3

Q.9 Wt ad arer 2Rz BT T BRI
Ans 1 uronEdt

X 2. uRmeng

X 3. yurmemdt

X 4. werdt

Question ID : 65497833775
Status : Answered
Chosen Option : 1

Q.10 F=fa @1 fawm ereg Brm-
Ans X 1. gffd

X 2. 3Afa

X 3. gmfd

4. 3aAfa

Question ID : 65497833785
Status : Answered
Chosen Option : 1

Q11 23 m arerrier ¥ forg ve 2Rz SR

sifafer &t Jar B aren
Ans X 1. 3nfae
& 2. 3fada
X 3. 3y
X 4. 3w

Question ID : 65497833780
Status : Answered
Chosen Option : 4

Q.12 fasedt 3ilv vam v awrien ¥ e v org Bvm-
Ans 1

X2 @

X 3 a3

X 4. wdx

Question ID : 65497833786
Status : Answered
Chosen Option : 2




Q.13 frfefEa wea ¥, faw 7y o fawel ¥ A, 30 fwww o1 a7 B o gerar #1372l oraw swar d)

Ans

Q.14
Ans

Q15 wyeroites @ wwe ghar §1 e wem &t qfd S

Ans

Q.16
Ans

B AT

X 1. AR e
X 2. ™ &
o 3. TBar

X 4. e s

fafir’ @1 el ereg gvm-
X 1. 3marer
o 2. 9B1er
X 3.3usR
X 4.3

X 1@y

X 2. et St
X 3. @netrer

o 4. ufism

‘are’ &1 yataard §-
s .3@
X 2 fagm
X 3.
X4ga

Q17 AR e wm A IR 32

Ans

wfcie AoTgR) BT 2NHUT B 1
X 1. wfes
X 2. wergi &t
o 3. 2=or
X 4. g

Question ID : 65497833782
Status : Answered
Chosen Option : 4

Question ID : 65497833788
Status : Answered
Chosen Option : 2

Question ID : 65497833791
Status : Answered
Chosen Option : 4

Question ID : 65497833793
Status : Answered
Chosen Option : 3

Question ID : 65497833792
Status : Answered
Chosen Option : 3




Q.18

Ans

Q.19

Ans

Q.20

Ans

Q21

Ans

Remarm s ag wm Fa s SRl P R &1 aR P IR A8 &, Ay I R i &' g

¢ &Y Bt aeht 3 11 31mer yu Feelt 31
AR i)
X 2. yg et 21
X 3 wEfA®
X 4 3 FfeTE 2
Question ID : 65497833778
Status : Answered
Chosen Option : 1
Rt 3R 3rrerer 3 dte BT T awRTier ¥ fAT U oRg BNT-
X 1.3y
X 2.gq
X 3.fifk
o 4. 3iafer
Question ID : 65497833787
Status : Answered
Chosen Option : 3

few e are ¥ Ywifia ws Y wfawenfia w2 F o wad sge e o1 o Y IR W@
wfereenfia # Bt s eawar €1 §, @ e fdt agema B smaeawar T8 § @1 @ B
uftar oA &Y SRiwAT gRT SAEsT gig Y AT Er afEgl

1. tRar A & Srismal gr

X 2. foseft geeTa Y 3Taeaesdr T B

X 3. gRar frate & srfeat gr

X 4. gRar g & srisat & gr

Question ID : 65497833781
Status : Answered
Chosen Option : 1

Comprehension:

TAROT B AT BT 320 & (1) 21 3% 7 ol e 7, 7 wAfdw, 7 a3manfais | 7399
fe g A (2) gaRTwEIPEFAE, 7 (3) | 7 Pré a8l va & AR
P a&T (4) | T8l wpfa BT A TEY, a8t a 9 3R Tepar &1 (5) 159 TEaT B

1 weat & 3av 3wiaw Taier & AR W Sl
SubQuestion No : 21
rarier ¥ fRa e (1) & forg waffie suge oz grm-
&< 1. waarer
W R
X 3. wa
X 4 Jien

Question ID : 65497833795

Status : Answered
Chosen Option : 2




Comprehension:

TAROT B AT BT 320 & (1) 1 3% 7 2l e 7, 7 wAfdw, 7 3manfais | 7399
R & asm@ @ (2) tIRATRAEZE,7(3) | 7 BYE ael var & 3R
PETET(4) | a8 wopla &1 AW 78, qgt o 3 3R vaar v (5) T T

i1 weal & 3uv Iwaw Maier & AR W Sl
SubQuestion No : 22
Q.22 wrerier 3 frae werm (2) 3 fory waitfiles Fugar e Bh-
Ans X 1 g
o 2. AR
X 3. R
X< 4. g

Question ID : 65497833796
Status : Answered

Chosen Option : 2

Comprehension:

TRROT &Y TGdT BT R0 & (1) 21 350 7 iR oe €, 7 WMfds, 7 smanfcids | 739w
fRggasm@a (2 EiRTwIEFTANE T(3) | 7 B 8T veaT & 3R AT
PETET(4) | a8 wopfa &1 A 48, 7t ar 3 33K vaar @ (5) T wAT R

v oA & IR 3T TErier & AR W A
SubQuestion No : 23
Q.23 rerier 3 feam Term (3) 3 ey waifies Juge erg grm-
Ans X 1. q@
X 2. fagm
o 3. At
X 4. TH

Chosen Option : 3

Question ID : 65497833797
Status : Answered

Comprehension:

ITEROT &Y AT &7 &2r & (1) 21 3% 7 omifRe oe €, 7 wAfd, 7 s | 7 39H
R AR (2) tIRTRAEZTAE, 7 (3) | 7P I8l yFa & 3R AT
PRI (4) | 81 wopla @1 AT A&Y, a=t A 3 3R g a7 (5) T T

371 weAT & 3R Iwaw TEier S AR W &gl
SubQuestion No : 24
Q.24 Terier 3 fear T (4) ¥ forg waifie 3w erg grm-
Ans X 1 egar
2. frda
X 3.dR
X 4. gcram

Chosen Option : 2

Question ID : 65497833798
Status : Answered




Comprehension:

3TTERUT BT T 6T 22 & (1) 21 399 7 2R 3Ts ¥, 7 A, 7 3meaTfaids | 7 399
g & A &1 (2) AR T IR BIE SR, 7 (3) | 7 IS g8l uaT & 3R AT
1< e (4) | T&T Upfd T ATH LT, T&T At U7 3R TebeT BT (5) Y XEdT B

=T wr2AY 3 IR IIRIeRd TEfel P ITHR W oI

SubQuestion No : 25

Q.25 Trerier & e w2 (5) & foig Waifis suge 2 gm-

Ans

W 1. 37T8
X 2.97r
X 3.dfsa
X 4. 0w

Question ID : 65497833799
Status : Answered
Chosen Option : 2
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Section : Part A General Intelligence and Reasoning

Q.1 Select the option that is related to the third number in the same way as the second
number is related to the first number.

70:8::87:7
Ans X 1.8

o 2.9

X 3.6

X4

Question ID : 65497830638
Status : Answered
Chosen Option : 2

Q.2 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Hostile
2. Hostel

3. Hospital
4. House

5. Hopeless

Ans X 1.5/3,1,2, 4
X 2.3,521,4
o 3.53,21,4
X 4.4,3,21,5

Question ID : 65497830625
Status : Answered
Chosen Option : 1

Q.3 Eight friends, A, B, C, D, E, F, G and H, are sitting around a round table at equal

distance between each other, facing the centre of the table. D is sitting between F and

H. A is not sitting between B and G. C is sitting third to the right of A. E is sitting
second to the left of D. Who is sitting opposite to A?

Ans 1. E
X 2.F
X 3.H
X 4.D

Question ID : 65497830637
Status : Marked For Review
Chosen Option : 3




Q.4 P,Q,R, S, Tand U are sitting on a bench. Q is at the right end. R is sitting to the
immediate right of S. U is sitting to the immediate left of T, and T is sitting to the
immediate left of Q. P is sitting to the immediate left of S. Who is sitting at the left end?

Ans X 1.U
x2T
X 3R
4P

Question ID : 65497830646
Status : Answered
Chosen Option : 4

Q.5 Select the number from among the given options that can replace the question mark
(?) in the following series.

123, 98, 82, 73, 69, ?
Ans X 1.49
o 2.68
X 3.52
X 4.57

Question ID : 65497830647
Status : Answered
Chosen Option : 2

Q.6 A number when added to 4 times to itself, gets equal to 10 times to its predecessor.
Find the number.

Ans 1.2
% 2.10
X 3.8
X 4.5

Question ID : 65497830635
Status : Answered
Chosen Option : 1

Q.7 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

Z_KF_OKGZ_K_zO_I
Ans 1. 0ZOHK
X 2.0ZKHK
X 3.0ZOHZ
X 4. KZOHK

Question ID : 65497830626
Status : Answered
Chosen Option : 1




Q.8  select the option in which the given figure is embedded (rotation is NOT allowed).

N

Ans \ I
o 1.
N
X 2. \
x 3.
\ .
X 4 5

Question ID : 65497830641

Status : Answered

Chosen Option : 1

Q.9 Dictionary' is related to ‘Meaning' in the same way as 'Encyclopaedia’ is related to

Ans X 1. Synonyms
X 2. Phrase
& 3. News
«" 4. Knowledge

Question ID : 65497830644

Status : Answered

Chosen Option : 4




Q.10 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
All girls are actors.
All actors are singers.

Conclusions:

1. Some girls are not singers.
2. No actor is a girl.

3. All girls are singers.

Ans X 1. Both conclusions 1 and 3 follow
4" 2. Only conclusion 3 follows
25 3. Only conclusion 1 follows

25 4. Only conclusion 2 follows

Question ID : 65497830633
Status : Answered
Chosen Option : 2

Q.11 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

FPW, EQV, DRU, ?
Ans X 1.COS
o 2.CST
< 3. TWX
X 4.CSG

Question ID : 65497830642
Status : Answered
Chosen Option : 2

Q.12 In a certain code language, ‘GREW’ is coded as ‘209224’.How will ‘TYPE’ be coded in
that language?

Ans o 1721122
X 2.721162
X 3.202511
X 4.511237

Question ID : 65497830645
Status : Answered
Chosen Option : 1

Q.13 In a certain code language, 'Where are you' is written as 'me ki na', 'When you come' is
written as 'bel na se’, and ‘Come back home' is written as 'se ne jo'. How will 'When' be
written in that language?

Ans X 1.Kki
X 2.se
X 3.me
«" 4. bel

Question ID : 65497830632
Status : Answered
Chosen Option : 4




mark (?) in it.
9187

183279
27 58 46

Ans X 1.22
x 2.21
% 3.26
o 4.25

Q.14 Study the given pattern carefully and select the number that can replace the question

Question ID : 65497830634
Status : Answered
Chosen Option : 4

following figures. How would this paper look when unfolded?

g
O, [
o

Ans R

Q.15 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the

Question ID : 65497830636
Status : Answered
Chosen Option : 2




Q.16 Select the dice that can be formed by folding the given sheet along the lines.

+ 2 1

al? 3

A B c D
Ans X 1. Only A
X2 Dand B
3 AandC
X 4. Only C

Question ID : 65497830640

Status : Answered

Chosen Option : 3




Q17 Select the figure that will replace the question mark (?) in the following figure series.

AT O
| L
Ans
O0—
X1 -
— A
20—
A—
vl —
A=—
<. | =

Question ID : 65497830628
Status : Answered
Chosen Option : 3

Q.18 Select the option that is related to the third term in the same way as the second term is
related to the first term.

CREAM : FPJYZ :: CHECK : ?
Ans X 1.FZJFV

" 2. FFJAV
& 3.FPJzV
X 4. FFJFV

Question ID : 65497830629
Status : Answered
Chosen Option : 2

Q.19 In a certain code language, ‘CHAINED’ is written as ‘EJYGPCF’. How will ‘MEADOW’ be
written in that language?

Ans X 1.PCYFMY
#5 2. OCYFNY
«" 3. OCYFMY
< 4. PCYFQY

Question ID : 65497830630
Status : Answered
Chosen Option : 3




Q.20 Select the Venn diagram that best represents the relationship between the following classes.

Passengers, Flight, Train

Ans

x 1.

- OO

Question ID : 65497830649

Status : Answered

Chosen Option : 3

Q.21 Select the number from among the given options that can replace the question mark
(?) in the following series.

17, 18, 26, 53, 117, ?
Ans X 1.302
o 2.242
% 3.336
X 4.232

Question ID : 65497830627

Status : Answered

Chosen Option : 2

Q.22 If ‘A’ denotes ‘addition’, ‘B’ denotes ‘subtraction’, ‘C’ denotes ‘multiplication’ and ‘D’
denotes ‘division’, then what will be the value of the following expression?

6C(57B8)D7B32A9
Ans X 1.27

X 2.18
X 3.15
o 4.19

Question ID : 65497830639

Status : Answered

Chosen Option : 4




Q.23 Select the correct mirror image of the given combination when the mirror is placed at PQ as shown.

QZ9JFN

a

Are X1 Md1930
v2N3LesP
X3WME1EXO
X+ N4163D

Question ID : 65497830648
Status : Answered
Chosen Option : 2

Q.24 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1.0DS
X 2. AHI
% 3.GNU
« 4.DOU

Question ID : 65497830643
Status : Answered
Chosen Option : 4

Q.25 Ajay and Charul are brother and sister. Manoj and Darshan are the sons of Kripal and
Sona. Sona is the mother-in-law of Charul's mother Swapnil. Neha, Niti and Nakul are
the daughters of Manoj and the only cousins of Ajay. How many children does
Darshan have?

Ans X 1.4
2.1
% 3.3
4.2

Question ID : 65497830631
Status : Marked For Review
Chosen Option : 4

Section : Part B General Knolwedge and General Awareness

Q.1 How many Articles and Schedules, respectively, were there in the Constitution of India
in 2019?

Ans X 1.398and 6
o 2.395and 8
% 3.392and 7
7 4.396 and 8

Question ID : 65497830669
Status : Answered
Chosen Option : 4




Q.2 Which of the following Indians made the country proud in Malaysia by being the
fastest Indian to complete the Ironman Malaysia triathlon in record time?

Ans X 1. Hiren Patel
< 2. Akshay Samel
7% 3. Arunaabh Shah
& 4. Swaroop Singh Kuntal

Question ID : 65497830671
Status : Not Answered
Chosen Option : --

Q.3 Which process is used by the unicellular freshwater organisms and most plant cells to
take in water?

Ans X 1. Morphogenesis
o 2. Osmosis
X 3. Hybridisation
< 4. Tropism

Question ID : 65497830651
Status : Answered
Chosen Option : 2

Q.4 As per FIFA Regulations, a football (soccer) match consists of two 45 minutes halves
with a rest period in between.

Ans X 1.20 minutes
+«" 2. 15 minutes
2< 3.10 minutes
< 4. 30 minutes

Question ID : 65497830674
Status : Answered
Chosen Option : 3

Q.5 Which scientist among the following coined the term ‘protoplasm’ for the fluid
substance of the cell?

Ans X 1.Leeuwenhoek
o 2. Purkinje
< 3. Virchow
#< 4. Schwann

Question ID : 65497830664
Status : Answered
Chosen Option : 2

Q.6 Who among the following wrote the book ‘India Wins Freedom’ giving an insider’s
view of India’s freedom struggle?

Ans X 1. Sardar Vallabhbhai Patel
#< 2. Dr. BR Ambedkar
2< 3. Jawaharlal Nehru
¥ 4. Maulana Abul Kalam Azad

Question ID : 65497830654
Status : Answered
Chosen Option : 4




Q.7 Who among the following was the first Indian Women Athlete to win a gold medal in
any Asian Games?

Ans X 1. Durba Banarjee
25 2. Karnam Malleswari
75 3. Arti Saha
" 4. Kamaljeet Sandhu

Question ID : 65497830650
Status : Answered
Chosen Option : 4

Q.8 Which of the following events occurred before the arrival of Simon Commission in
India?

Ans X 1. The First Round Table Conference
75 2. Gandhi-Irwin Pact
2< 3. Quit India Movement
«# 4. Kakori Conspiracy

Question ID : 65497830661
Status : Answered
Chosen Option : 3

Q.9 The aim of is to promote the Panchayati Raj Institutions in the country.
Ans X 1. the Constitution (Sixtieth Amendment) Act, 1988

25 2. the Constitution (Forty-third Amendment) Act, 1977
4" 3. the Constitution (Seventy-third Amendment) Act, 1992
< 4. the Constitution (Thirty-Seventh Amendment) Act, 1975

Question ID : 65497830656
Status : Answered
Chosen Option : 3

Q.10 Who among the following won the Dada Saheb Phalke Award in 2020 for his
documentary ‘Chi Lupo’?

Ans X 1. Kasinathuni Viswanath
" 2. Kezang D Thongdok
< 3. B Nagi Reddy
75 4. Akkineni Nageswara Rao

Question ID : 65497830668
Status : Answered
Chosen Option : 2

Q.11 Who among the following was the youngest umpire to enter the ICC Elite Panel in
20207

Ans X 1. Aleem Dar
¥ 2. Nitin Menon
7% 3. Sundaram Ravi
X 4. Nigel Llong

Question ID : 65497830653
Status : Answered
Chosen Option : 3




Q.12 In how many phases was the General Election to the Legislative Assembly of Bihar
2020 conducted by the Election Commission of India?

Ans o 1. Three
< 2. Two
< 3. Four

X 4. Five

Question ID : 65497830657
Status : Answered
Chosen Option : 3

Q.13 Which of the following is a conventional source of energy?
Ans X 1.Biogas

< 2. Wind energy

2% 3. Solar energy

" 4. Firewood

Question ID : 65497830667
Status : Answered
Chosen Option : 3

Q.14 Which of the following is a statistical tool that measures a country’s overall
achievement in terms of health, education and income?

Ans o 1. Human development index
75 2. Per capita income
< 3. Life expectancy
< 4. Political stability

Question ID : 65497830659
Status : Answered
Chosen Option : 1

Q.15 Who among the following introduced the ’Doctrine of Lapse’?
Ans X 1.Lord Ripon

25 2. Warren Hastings

< 3. Lord Canning

4" 4. Lord Dalhousie

Question ID : 65497830655
Status : Answered
Chosen Option : 4

Q.16 Who among the following constructed the Jamat Khana Mosque in Delhi?
Ans X 1. Qutb al-Din Mubarak Shah

X 2. Jalal-ud-din Firuz Khilji
< 3. Ala-ud-din Khiji
4" 4. Khizr Khan

Question ID : 65497830662
Status : Answered
Chosen Option : 3




Q.17 The property of metals to produce ringing sound on being struck with a hard object is
known as

Ans X 1. Malleability
25 2. Ductility
75 3. Opaque
4 4. Sonorous

Question ID : 65497830663
Status : Answered
Chosen Option : 4

Q.18 What makes the soil fertile?

Ans X 1. Overabundance of acidic materials in the soil
#< 2. The right mix of minerals and inorganic matter
«# 3. The right mix of minerals and organic matter

< 4. High levels of salt in the soil

Question ID : 65497830673
Status : Answered
Chosen Option : 3

Q.19 As of 2020, in which of the following cities is the headquarters of Axis Bank located?
Ans X 1. Ahmedabad

#< 2. Bengaluru
2< 3. Chennai
o 4. Mumbai

Question ID : 65497830660
Status : Answered
Chosen Option : 4

Q.20 Which of the following sports personalities won the Rajiv Gandhi Khel Ratna Award
20207

Ans X 1. Vishesh Bhriguvanshi
< 2. Dharmendra Tiwary
«" 3. Mariyappan Thangavelu
X 4. Vijay Bhalchandra Munishwar

Question ID : 65497830670
Status : Answered
Chosen Option : 3

Q.21 Devprayag is the place where the Bhagirathi joins
Ans X 1. Ghaghara

< 2. Meghna
75 3. Gandak
4" 4. Alaknanda

Question ID : 65497830658
Status : Answered
Chosen Option : 4




Q.22 is an asset that the borrower owns and uses as a guarantee to a lender, until
the loan is repaid.

Ans X 1. Accessory
25 2. Ancillary

< 3.Bail
4" 4. Collateral

Question ID : 65497830672
Status : Answered
Chosen Option : 1

Q.23 What are the two languages in which the Kandahar Bilingual Rock Inscriptions were
written?

Ans X 1. Arabic and Greek
75 2. Persian and Aramaic
4 3. Greek and Aramaic
< 4. Greek and Prakrit

Question ID : 65497830666
Status : Answered
Chosen Option : 2

Q.24 Who among the following was the successor of Chandragupta 1?
Ans X 1. Vikramaditya

¥ 2. Samudragupta
#< 3. Chandragupta Il
X 4. Ghatotkacha

Question ID : 65497830652
Status : Answered
Chosen Option : 4

Q.25 Who authored the book ‘Voices of Dissent’ published in October 2020?
Ans X 1. Arjun Anand

< 2. Arundhati Roy
< 3. Sarbpreet Singh
4" 4. Romila Thapar

Question ID : 65497830665

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Section : Part C Elementary Mathematics

Q1 Acan complereg of a work in 10 days and B can complete g of the same work in 8 days. They work together for 5
days. The remaining work is completed by C alone in 6 days. In how many days C alone can complete 75% of the

same work?
Ans s 1. 27
X2 36
X3 18
X430

Question ID : 65497830683
Status : Answered




Q.2 An electric heater was sold at a profit of 12%. If its cost had been 5% less and it had been sold for Z180 less, the profit
would have been 10%. What is the cost price of the electric heater?

Ans X1, 32,250
X 2. 32,380
« 3 22,400
X 4. 32,000

Question ID : 65497830675
Status : Answered
Chosen Option : 3

Q.3 The price of sugar rises by 33%. By what percent should a family reduce the consumption of sugar. so as NOT to
increase the expenditure?

Ans X130
2 248
X3 208
X 4. 33

Question ID : 65497830693
Status : Answered
Chosen Option : 2

Q.4 Acistern has a leak which would empty it in 6 hours. A tap is turned on which admits 10 litres of water per minute into
the cistern. When it is full it now emptied in 10 hours. What is the capaeity (in litres) of the cistern?

Ans X 1. 8000
+ 2. 9000
X 3. 8500
< 4. 10000

Question ID : 65497830694
Status : Answered
Chosen Option : 2

Q.5 Two ropes, one 8 m long and the other 14 m long are to be cut into pieces of the same length. What will the maximum
possible length of each piece be?

Ans X 1. 1m
X2 4m
3 2m
X4 6m

Question ID : 65497830684
Status : Answered
Chosen Option : 4




Q.6 If the radius and the height of a circular cylinder are 10 em and 15 em, respectively, and the radius of a sphere is 5 cm,
then what is the ratio of the curved surface area of the cylinder to that of the sphere?

Ans  X'1.3:2
*2:5:1
w3 3:1
x41:3

Question ID : 65497830680
Status : Answered
Chosen Option : 3

Q.7 The capacities of two hemispherical vessels are 2.7 litres and 12.5 litres. Find the ratio of the areas of the inner curved
surfaces of the vessels.

Ans  #1.3:5
X25:3
X3 2:1
K412

Question ID : 65497830699
Status : Answered
Chosen Option : 1

Q.8 The ratio of the number of girls and boys in a school is 8 : 7. If the percentage increase in the number of girls and boys
is 10% and 20%, respectively, what will be the new ratio?

Ans X1 14:19

W2 22:21
X3 20:23
®413: 11

Question ID : 65497830697
Status : Answered
Chosen Option : 2

Q.9 When 55 is subtracted from a number, it reduces to its 80%. Find four-fifth of the original number.
Ans X' 1. 240

2 220

X3 210

X 4. 180

Question ID : 65497830685
Status : Answered
Chosen Option : 2

Q10 A shopkeeper bought 60 kg of rice at 342 per kg and mixed it with 120 kg rice at 252 per kg.
At what rate (T per kg) should he sell the mixture to gain 20%7?

Ans  X'1. ¥53.25
X2 35482
3 T58.40
X 4. ¥55.50

Question ID : 65497830696
Status : Answered




an An article was sold for ¥8800 which is g of its cost price. The loss per cent is:

Ans

6
X1 31§%
2 284‘}’
285%

5
X3 225%

3
x4 12§%

Question ID : 65497830682
Status : Answered
Chosen Option : 2

Q.12 Mukul lent 29,300 on simple interest in two parts. He earned interest at 5% per annum on the first part and at 8% per

annum on the second part. The total interest he received after 4 years is 2,400. What is the ratio of the money lent at
5% to that lent at 8%?

Ans  X1.5:8
X2 8:5
x315:16
¥4 16: 15

Question ID : 65497830676
Status : Answered
Chosen Option : 4

Q13 Ifx:y=5:2, then what is (8x — 9y) : (14x — 13y)?
Ans  X'1. 37:29

"2 20237

3 1:2

x4 2:1

Question ID : 65497830679
Status : Answered
Chosen Option : 3

Q.14 If the difference between the simple interest and compound interest on a sum of money invested for 2 years at the rate of
15% per annum (interest compounded annually) is T225, then what is the sum?

Ans X 1. 38,000
X 239,500
« 3 T10,000
X 4. 39,000

Question ID : 65497830689
Status : Answered
Chosen Option : 3




Q.15

Ans

A man covers a certain distance at a speed of 60 km/h and returns at a speed of 40 km/h. What is his average speed
(in km/h) for the entire journey?

1. 48
X2 40
X312
X450

Question ID : 65497830678
Status : Answered
Chosen Option : 1

Q.16

Ans

The ratio of the monthly incomes of Ramu and Somu is 6 : 5 and the ratio of their expenditures is 7 : 6. At the end of the
month, Ramu and Somu save 1,500 and 1,000, respectively. What is Ranmu’s monthly income?

X 1. 324,000
X2 718,000
X3 T14,000
v 4 T12,000

Question ID : 65497830688
Status : Answered
Chosen Option : 4

Q.17

Ans

If the average of the numbers 5, 7, 9, 12, 13, t, 20 is t, then what is the value of t?

X110
2 11
X3 15
x4 18

Question ID : 65497830687
Status : Answered
Chosen Option : 2

Ans

Q.18

3 3 3 4 5 2 5 S 2 5% .
Thevalueof;+; of e e of ;—(5—; of g) 1s:
10
3
11
3
20
3
22

K4t
3

x 1.

Question ID : 65497830681
Status : Answered
Chosen Option : 3




Q.19 What will be single discount equivalent to three successive discounts of 50%, 30%, and 20967
Ans X 1. 68%

v 2 72%

X3 75%

X 4. 70%

Question ID : 65497830691
Status : Answered
Chosen Option : 2

Q.20 The mean of 15 measurements was calculated to be 50 cm. But it was found that one of the measurements was recorded

as 46 cm instead of 61 cm. What is the correct mean (in cm)?

Ans 1 33
*2:52
X3 55
4 51

Question ID : 65497830690
Status : Answered
Chosen Option : 4

Q21 Simplify the following expression.

2 of li—lx5+2
4 5

24-6x12

Ans 3
Wl ——
80

1
192

29
720

X 4. d
240

x 2.

x 3.

Question ID : 65497830677
Status : Answered
Chosen Option : 4

Q.22 Ifthe difference between two numbers is 42 and their LCM and HCF are 1729 and 7, respectively, what is the sum of
those two numbers?

Ans X 1390
X2 244
X3 420
4 224

Question ID : 65497830686
Status : Answered
Chosen Option : 4




one year be on the same deposit at 4% per annum?
Ans 1 F30
X2 349
X3 45
x4 336

Q.23 The interest on a certain deposit at 3.5% per annum will be T210 in one year. How much will the additional interest in

Question ID : 65497830698
Status : Answered
Chosen Option : 3

right series?

Ans 1. T770.55
X2 T771.55
X3 F773.55
X4 F772.55

Q.24 The list price of an article is T15.000. A trader wants to buy it. He has to choose one out of two discount series — one is
45%, 3%, and 2% and the other is 25%, 12% and 13% — on the list price. How many rupees can he save by choosing

Question ID : 65497830692
Status : Answered
Chosen Option : 4

432 km?

Ans X' 1. 6 hours 30 minutes
X 2. 5 hours 30 minutes
+ 3. 5 hours
X 4. 6 hours

Q.25 Acar starts at a speed of 80 kimv/h, with its speed increasing by 8 knvh every two hours. In how many hours will it cover

Question ID : 65497830695
Status : Answered
Chosen Option : 1

Section : Part D English

Ans o 1. Flavure
< 2. Figure
< 3. Leisure
75 4. Future

Q.1 Select the INCORRECTLY spelt word.

Question ID : 65497830703
Status : Answered
Chosen Option : 1




Q.2 Select the most appropriate ANTONYM of the given word.

Loathe
Ans X 1. Detest

" 2. Admire
#< 3. Abhor
75 4. Despise

Question ID : 65497830716
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate ANTONYM of the given word.

Beneath
Ans X 1.Below

" 2. Above
< 3.Beyond
< 4. Under

Question ID : 65497830701
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Karan looked everywhere for the pen-drive but could not find it.
Ans X 1.but had not find it

4" 2. No substitution required
25 3. but could not finding it
#< 4. but could not found it

Question ID : 65497830707
Status : Answered
Chosen Option : 2

Q.5 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Unless you don’t / work hard, / you will fail.
Ans X 1. you will fail

< 2. No error
" 3. Unless you don’t
5 4. work hard

Question ID : 65497830700
Status : Answered
Chosen Option : 3




Q.6 Select the most appropriate meaning of the given idiom.

Blow a fuse
Ans X 1. To feel tired

X 2. To feel sick
< 3. To work hard aimlessly

«# 4. To react very angrily

Question ID : 65497830717
Status : Answered
Chosen Option : 4

Q.7 Select the option that can be used as a one-word substitute for the given group of
words.

A person who is excessively conceited and self-absorbed
Ans X 1.Fraud

25 2. Cheater

" 3. Egotist
#< 4. Deceiver

Question ID : 65497830713
Status : Answered
Chosen Option : 3

Q.8 Select the most appropriate meaning of the given idiom.

The apple of one’s eye
Ans X 1. Someone very rich

" 2. A person who is very dear
< 3. Ajolly fellow

X 4. Afierce opponent

Question ID : 65497830710
Status : Answered
Chosen Option : 2

Q.9 Select the most appropriate synonym of the given word.

Radical
Ans X 1. Superficial

2< 2. Minor
¥ 3. Profound

< 4. Conservative

Question ID : 65497830712
Status : Answered
Chosen Option : 2




Q.10 Select the most appropriate option to fill in the blank.

The new employee said thathe was __ of doing the job well.
Ans X 1. sufficient

X 2. diffident

+" 3. confident

< 4. efficient

Question ID : 65497830718
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Overexposure to the sun while sunbathing not only results in sunburns but also
causes premature aging.

Ans  # 1. No substitution required
< 2. for sunbathing
< 3. as sunbathing
25 4. ever sunbathing

Question ID : 65497830719
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate option that can substitute the underlined word in the
given sentence.

When you give away a secret or an advantage, you reveal a secret or suspension that
you should have kept to yourself.

Ans  # 1.information
< 2. dereliction
< 3. revolution
75 4. benediction

Question ID : 65497830704
Status : Answered
Chosen Option : 1

Q.13 Select the INCORRECTLY spelt word.
Ans X 1.Dictate

«# 2. Dictionery
X 3. Difference
< 4. Decision

Question ID : 65497830714
Status : Answered
Chosen Option : 2




Q.14 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Eighty rupees are / too much for / this leather bag, / which is looking so old.
Ans X 1.too much for

< 2. this leather bag
«” 3. Eighty rupees are
#< 4. which is looking so old

Question ID : 65497830705
Status : Answered
Chosen Option : 3

Q.15 Select the most appropriate option to fill in the blank.

Editing involves and correction with an intention to produce accurate work.
Ans X 1. habitation

" 2. modification
< 3. fortification
#< 4. modulation

Question ID : 65497830715
Status : Answered
Chosen Option : 2

Q.16 Select the option that can be used as a one-word substitute for the given group of
words.

Comparison between things that have similar features
Ans X 1.Resemblance

#< 2. Contrast

" 3. Analogy
< 4. Description

Question ID : 65497830708
Status : Answered
Chosen Option : 2

Q.17 Select the most appropriate option to fill in the blank.

He applied for official to organise the event.

Ans X 1.agreement
#< 2. provision
2 3. authority

«¥ 4. permission

Question ID : 65497830709
Status : Answered
Chosen Option : 4




Q.18 Parts of the given sentence have been given as options. One of them contains a
grammatical error. Select the option that has the error.

Her friends house is close to the high school where Sarathi teaches.
Ans X 1. the high school

«" 2. Her friends
< 3. teaches
X 4. close to

Question ID : 65497830711
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate synonym of the given word.

Competent
Ans X 1. Compatble
" 2. Capable
7% 3. Comfortable
< 4. Comparable

Question ID : 65497830706
Status : Answered
Chosen Option : 1

Q.20 Select the option that can be used as a one-word substitute for the given group of
words.

Words carved on a stone or monument
Ans X 1. Transcription

«# 2. Inscription
< 3. Prescription
2< 4. Subscription

Question ID : 65497830702
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It has always been (1) dream to live (2) Northbrook Villa. My cousins have
been (3) there since a long time. The place is (4) ten kilometres away from my
school. | hope father will agree (5) shifting there.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.

Ans o 1.my
< 2.me
75 3. mine
75 4. myself

Question ID : 65497830721
Status : Answered
Chosen Option : 1




Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It has always been (1) dream to live (2) Northbrook Villa. My cousins have
been (3) there since a long time. The place is (4) ten kilometres away from my
school. | hope father will agree (5) shifting there.

SubQuestion No : 22
Select the most appropriate option to fill in blank number 2.
< 1. among

& 2.to
o 3.in
< 4. from

Question ID : 65497830722
Status : Answered
Chosen Option : 3

Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It has always been (1) dream to live (2) Northbrook Villa. My cousins have
been (3) there since a long time. The place is (4) ten kilometres away from my
school. | hope father will agree (5) shifting there.

SubQuestion No : 23
Select the most appropriate option to fill in blank number 3.

&1, left
< 2. live
o« 3. living
< 4. lived

Question ID : 65497830723
Status : Answered
Chosen Option : 3

Q.24
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It has always been (1) dream to live (2) Northbrook Villa. My cousins have
been (3) there since a long time. The place is (4) ten kilometres away from my
school. | hope father will agree (5) shifting there.

SubQuestion No : 24
Select the most appropriate option to fill in blank number 4.
25 1. adjectively

5 2. advertently
# 3. approximately
25 4. ambivalently

Question ID : 65497830724
Status : Answered
Chosen Option : 3




Q.25
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It has always been (1) dream to live (2) Northbrook Villa. My cousins have
been (3) there since a long time. The place is (4) ten kilometres away from my
school. | hope father will agree (5) shifting there.

SubQuestion No : 25
Select the most appropriate option to fill in blank number 5.

< 1. out

¥ 2.t0
75 3. from

&4 at

Question ID : 65497830725
Status : Answered
Chosen Option : 4

Section : Part D Hindi

Q1

Ans

gwmmﬁmmﬁﬁmﬁaﬁﬁ%%lﬁﬁ%zﬁﬂﬁ%ﬁﬁzﬁﬁ%
|

T BT (1) IR B (2) AFEAT TS E € (3) BIS IR TS (4)
o 1.1
X 24
73.2
X 4.3

Question ID : 65497830726
Status : Not Answered
Chosen Option : --

Q.2
Ans

TP P A e AT U BT I8 5 geraw &1 3f 82
o 1. 7@ ¢d ¥ & s o

X 2.0 Uall & Fg-ag g

X 3.0 W UG gl

X 4. T R & IR EFT

Question ID : 65497830729
Status : Not Answered
Chosen Option : --

Q.3

o0 T arem & e umT A 3fe 32
I8 TP MARIHIT T4 A 9182 TAT 3|

Ans  p1 SAHT B

X 2.3TR
X 3. TR
X 4. /BT

Question ID : 65497830741
Status : Not Answered
Chosen Option : --




Q4 i auf & SRardl- YWarfed aream & e ve W &1 99 Sife-
Ans 1 Jafi®

X 2. \ii®

X 3. srfarffa

X 4. At

Question ID : 65497830743
Status : Not Answered
Chosen Option : —

Qs gq%s;%?rag YR 7 &% Fored 18 3l 31 aft o1 3fe 7@ &, & =g gfe =

S ST ST JHGd a9 7% ¢
Ans 1 IS SHCd

X 2 PR IR
X 3. S aia
X4TE

Question ID : 65497830730
Status : Not Answered

Chosen Option : —

Q.6 fyga v &t g ¥ g ged Suged W &1 99T BY)
JgURABMmEgEl_ srPmiudRan g
Ans 3 1 Yl
X 2. 9@
7< 3. Hral
& 4 Ha

Question ID : 65497830745
Status : Not Answered

Chosen Option : —

Q7 ﬁqmmﬁiﬁmm wfornfia o & e wad Suged fawea #1997 3%
fe = ufaeufia #3 3t sraxasar 781 7, 3 ey 5t agae o sraxaedar T8 &

BT TG B
Wit ok e o1 AR HEu 21
Ans X 1 aefia ey gl
X 2. 3 F Fau Bl
o 3. M ey Bl
X 4.5 Saad 31 saaddl el ol

Question ID : 65497830739
Status : Not Answered
Chosen Option : —




Q.8 [y - YT Weg & forg aream &1 9= Hifoe-
Ans 1 Sl Hig R Bl

X 2 Sl Sgd gy El
X 3. g
X 4. il THYRY Hdl &

Question ID : 65497830744
Status : Not Answered
Chosen Option : -
Q.9 [E Tt aTe g T IT BN
Ans X 1 fpuar
X 2. 9w
X 3.fpsm
4. P
Question ID : 65497830737
Status : Not Answered
Chosen Option : -
Q.10 figge o1 wafgar 8-
Ans X 1. qRoit
X 2.3
< 3.9
4. TUal
Question ID : 65497830742
Status : Not Answered
Chosen Option : -
Q.11 & adt T Weg BT TG B
Ans X 1 3f&id@
X 2. 3l
3. 3@
X 4. iaran
Question ID : 65497830738
Status : Not Answered
Chosen Option : -

Q.12 Rea wF 31 gfd & forg aes Suged e &1 997 33-
FA___ YT A B IRl
Ans X 1 3fad
2. Fard
X 3. @
X 4 Gom

Question ID : 65497830735
Status : Not Answered
Chosen Option : -




Q.13 3y v a1y ¥ Wafea @e o1 ufawnfia $39 & foe e Sugea e sraga «¥)
uﬁsﬂz@(w@aaﬂ%aﬁﬂmﬂﬂia}ﬁmﬁﬂhmﬁﬁmﬁ%
PTIGT Y|

IS SigReRiar F FRU IRER W AarE & w8
Ans X 1 URGRI R ARGl & Pl of 7T |
X 2. IRGR R aRal & Bl &l 1 |
X 3. ot agaa 3 saxawdr 18 1
4. URAR R ARGl &1 &l g T4 |

Question ID : 65497830734
Status : Not Answered
Chosen Option : —

Q.14 Raa wF 31 gfd & fore aes Suged e &1 997 33
ST fREEF__ Fudid
Ans » 1 3UdEd
X 2.9y
X 3.few
X 4. 3ER

Question ID : 65497830736
Status : Not Answered
Chosen Option : —

Q.15 3T 1Y Weg & AT Weg BT 99 Fiforg|
Rt
Ans p 1 3RETH
X 2. 3rEe
X 3.9 R
X 4.9

Question ID : 65497830727
Status : Not Answered
Chosen Option : —

Q.16 Y- faer-gm gafa 78 22
Ans X 1 yia-Ed

X 2. SRR
X 3. SR

& 4 QH-3P

Question ID : 65497830728
Status : Not Answered
Chosen Option : —




Q.17 oy 7 T & R e v {RA-
S W BT T W BT &
Ans X 1 A
X 2. @aA
X 3. Wacst
o 4. el

Question ID : 65497830733
Status : Not Answered
Chosen Option : —

Q.18 I ey o1 957 P, S Fra gerey o1 9 orf srea wrar 21
ERBIUMI 9 BT
Ans X 1. ga®I UMl
X 2. S
X 3. dfbd BT
W RE LR ECANG |

Question ID : 65497830740
Status : Not Answered
Chosen Option : —

Q.19 7 arwam & e Sfea v &1 =9+ Fifse)
YR W FUT IR VT T@aren
Ans X 1 Yad

X 2wy
o 3. Had a8
< 4. urdf

Question ID : 65497830732
Status : Not Answered
Chosen Option : —

Q.20 3w 7Y =g &1 fadm gl
e
Ans X 1 J4fif®
X 2 wifad
3. URcllibd
X 4. 3cifhd

Question ID : 65497830731
Status : Not Answered
Chosen Option : —




Comprehension:

U T H A $F ek gel AU M §1 YW SR us F udd W & forg e Iugad
fawey s g B3|

Tsd (1) HERER EIRIGIEIGR:AP) | SRR (3) < oI 38t & fob TR
Pl (4) TG | BT, Gelt Iiof 7d @isit )R (5) a1 82
SubQuestion No : 21
Q.21 T & Y ®IF (1) ¥ fore waifie Sugea wse -
Ans 1 E]
X 2.8l
X 3.9%

X4 gR

Question ID : 65497830747
Status : Not Answered
Chosen Option : —

Comprehension:

RUTT T A A $9 ek gl AU T 1 SUUR e ws F vl G & R We Iugad
fadeq o1 g BRI

gsd (1) 1 71aT gF e el 7 (2) | §RIER (3) <o %l 8 o 2R
Pl (4) TG | B, Gelt Jiof 7d @isit )R (5) Gd1 82

SubQuestion No : 22
Q.22 ey & e R (2) & fore waifue Suge weg gm-
Ans X 1 FIWE
X2 w®EE
X 3. R®BE
& 4. Bawe

Question ID : 65497830748
Status : Not Answered
Chosen Option : —

Comprehension:

T T e H @ $@ Wek gl AU T &1 SHWR SR Usil H Udid S & foe el Jugad
fadea o1 g BRI

gsh (1) 1 71e1 Ul el 7 (2) | SRIeR (3) & o e
@l (4) TG | B, Gelt Iiof 7d @isitl )R (5) Gl 82

SubQuestion No : 23
Q.23 T & e wF (3) ¥ fore waifte Sugea v 8-
Ans X 1. 3fielt
X 2. @R
X 3. gdd
4. TdE

Question ID : 65497830749
Status : Not Answered
Chosen Option : —




Q.24

Ans

Comprehension:

U T H A $F ek gel AU M §1 YW SR us F udd W & forg e Iugad
fawey s g B3|

Tsd (1) HERER EIRIGIEIGR:AP) | SRIeR (3) A el @ f TR
Pl (4) TG | BT, Gelt Iiof 7d @isit )R (5) a1 82

SubQuestion No : 24
T & Raa wiF (4) ¥ fore waifie Suged wsg 8-
o 1. 9H-JUI
X 2.g9l
X 3. et
X 4. Fan

Question ID : 65497830750
Status : Not Answered
Chosen Option : —

Comprehension:

RUTT T A A $9 ek gl AU T 1 SUUR e ws F vl G & R We Iugad
fadeq o1 g BRI

gsd (1) 1 71aT gF e el 7 (2) | §RIER (3) <o %l 8 o 2R
Pl (4) TG | B, Gelt Jiof 7d @isit )R (5) Gd1 82

SubQuestion No : 25

Q.25 ey & fyaa ®ITF (5) ¥ forg waifue Iuge =g Em-

Ans

X 1.3
X 2. o
¢ 3. DH

X4w

Question ID : 65497830751
Status : Not Answered
Chosen Option : —
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Section : Part A General Intelligence and Reasoning

Q.1 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

X
T
i
—

x 2.

ESIES

—

o 4.

Question ID : 65497832788
Status : Answered
Chosen Option: 4




Q.2 Study the given pattern carefully and select the number that can replace the question mark
?)init.

6412 27
216?343
512 40 125

Ans X 1.64
X272
o 3.42
X 4.95

Question ID : 65497832795
Status : Answered
Chosen Option: 3

Q.3 Two different positions of the same dice marked with the numbers I, IL, III, IV. V and VI are shown .

Select the number that will be on the face opposite to the face having the number ‘IV".

Ans 1. 111

Question ID : 65497832787
Status : Answered
Chosen Option : 1

Q.4 In a certain code language, 'SLAM' is coded as '5736339', and 'TOY' is coded as '604575'.
How will 'CLEAR' be coded in that language?

Ans X 1.93612651
& 2.93618357
" 3.93615354
& 4.63915354

Question ID : 65497832806
Status : Answered
Chosen Option: 3

Q.5 Select the letter-cluster from among the given options that can replace the question mark
(?) in the following series.

UKT, PFO, KAJ, ?
Ans X 1.GHM

2. FVE

X 3.EVO

% 4.FEQ

Question ID : 65497832798
Status : Answered
Chosen Option : 2




Q.6 Rohit donates 15% of his monthly income to charity funds. The remaining income is spent
in the following manner: 35% on food, 20% on rent, 17% on bills, 8% on clothing, and the
remaining is kept as savings. If the amount saved each month is ¥14,620, then what is
Rohit's monthly income?

Ans o 1.%86,000
X 2.375,300
7 3.382,000
X 4.373,100

Question ID : 65497832796
Status : Answered
Chosen Option: 1

Q.7 In an imaginary mathematical system, symbol '-' stands for addition, symbol '+ stands for
division, symbol 'x' stands for subtraction, and symbol '+' stands for multiplication. What is
the value of the following expression?

144%x35+7+12-3
Ans X 1.107

X 2.43

o 3.87

X 4.95

Question ID : 65497832786
Status : Answered
Chosen Option: 3

Q.8 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Ans
o)0o
Kl |l= =
000
==
2 |= =
O)O
O O
K3 |l= =
52 [ |
o) 0
Kb |= =
oo

Question ID : 65497832797
Status : Answered
Chosen Option : 2




Q.9  Study the given pattern carefully and select the letter that can replace the question mark (?) in it.

Ans X 1.A
X2z

 3.B
X4y

Question ID : 65497832790
Status : Answered
Chosen Option : 2

Q.10 In a certain code language, ‘CALM'’ is written as ‘DCOQ’. How will ‘COOK’ be written in that
language?

Ans X 1.DORQ
< 2.DPRQ
< 3.DROQ
& 4.DQRO

Question ID : 65497832793
Status : Answered
Chosen Option: 4

Q.11 Select the option that is related to the third term in the same way as the second term is
related to the first term.

INSERT: NIXZTR:: SECOND: ?
Ans X 1.ESJDHN

25 2. EHSDJN
" 3. ESHJDN
X 4. EHHJND

Question ID : 65497832802
Status : Answered
Chosen Option : 3

Q.12 Identify the number that does NOT belong to the following series.
16,17, 25,52, 116, 243
Ans X 1.52

X 2.116

X 3.25
o 4.243

Question ID : 65497832807
Status : Answered
Chosen Option : 4




Q.13 Select the Venn diagram that best represents the relationship between the following classes.

Earth, Forest, Trees

Ans

w1

X2 O

Question ID : 65497832801
Status : Answered
Chosen Option: 1

Q.14 Ravali does not have any brother. Girima is the wife of Arjun. Zakir is the husband of Malavi.
Chaya is the daughter of Ravali. Fatima is the daughter of Arjun. Malavi is the mother of
Ravali. Girima is the maternal aunt of Chaya. How is Girima related to Zakir?

Ans o 1. Daughter
X 2. Sister
X 3. Daughter-in-law
X 4. Sister-in-law

Question ID : 65497832804
Status : Answered
Chosen Option: 1

Q.15 ‘Factory’ is related to ‘Manufacture’ in the same way as ‘Kitchen' is related to °

Ans o 1. Cook
& 2. Fruits

# 3.Plan

25 4. Vegetables

Question ID : 65497832799
Status : Answered
Chosen Option : 1




Q.16 Four letter-clusters have been given, out of which three are alike in some manner and one is
different. Select the one that is different.

Ans X 1.LGB
X 2. MHC
& 3.FAU
X 4.ZUP

Question ID : 65497832805
Status : Answered
Chosen Option: 3

Q.17 In a certain code language, ‘'MAGNET is written as 'HFTIJO’. How will ‘CULPRIT’ be written
in that language?

Ans X 1.XZOKINO
& 2. XZGKMNO
X 3.XPGUWDO
X 4. XPQUMNO

Question ID : 65497832803
Status : Answered
Chosen Option : 2

Q.18 Select the number from among the given options that can replace the question mark (?) in
the following series.

1,2,9,64,?

Ans X 1.570
X 2.225

& 3.625

X 4.450

Question ID : 65497832791
Status : Answered
Chosen Option: 3

Q.19 Select the correct option that indicates the arrangement of the given words in the order in
which they appear in an English dictionary.

i. Monkey

ii. Money

iii. Monotony
iv. Monarch
v. Monster

Ans X 1.iv,iii, i, ii, v
o 2.1V, i, 0, dii, v
25300, iv, v, dii
X4, i iv, v

Question ID : 65497832789
Status : Answered
Chosen Option : 2




Q.20 Select the correct mirror image of the given combination when the mirror is placed to its right side.

6TYGz2
~ < ZZOYTD

Sx09YTO
~~QSxODATO
~~@LACII

Question ID : 65497832808
Status : Answered
Chosen Option : 2

Q.21 Six friends, P Q, R, S, T and U, are sitting around a circular table at equal distance between
each other, facing the centre. S is sitting between U and Q. P is second to the left of S and
second to the right of T. Q is sitting between T and S. Who is sitting opposite to S?

Ans X 1.U
« 2.R
X 3.P
X 4T

Question ID : 65497832800
Status : Answered
Chosen Option : 2




Q.22 Select the figure from among the given options that can replace the question mark (?) in the following series.

AN|

clo ]
Ans o o)
o 1. S —
o o]
o
o
X 3.
0 0
[+] [+]
X 4.
) 0

Question ID : 65497832792

Status : Answered

Chosen Option: 1

Q.23 Read the given statements and conclusions carefully. Assuming that the information given
in the statements is true, even if it appears to be at variance with commonly known facts,
decide which of the given conclusions logically follow(s) from the statements.

Statements:
All fruits are stems.
Some fruits are leaves.

Conclusions:
|. Some stems are leaves.
1. Some leaves are fruits.

Ans X 1. Neither conclusion | nor Il follows
25 2. Only conclusion | follows
" 3. Both conclusions | and Il follow

#5 4. Only conclusion Il follows

Question ID : 65497832794

Status : Answered

Chosen Option: 3




Q.24 Select the option that is related to the third number in the same way as the second number
is related to the first number.

11:121:17:?
Ans X 1.256
o 2.289
7 3.305
2 4.360

Question ID : 65497832785
Status : Answered
Chosen Option : 2

Q.25 Six students, Anima, Rohit, Kiran, Seema, Jaya and Manish, are top six rank holders in a
school. The rank of Rohit is between the ranks of Kiran and Seema. Rohit is at the fourth
rank. There are two students between the ranks of Jaya and Seema. Jaya is at the lowest
rank among all the six students. The rank of Manish is immediately above the rank of
Anima.

Who is at the fifth rank?
Ans X 1.Seema

" 2. Kiran
< 3. Anima
25 4. Manish

Question ID : 65497832784
Status : Answered
Chosen Option : 2

Section : Part B General Knolwedge and General Awareness

Q.1 Which of the following conditions could harm coffee plantations?
Ans X 1.Loamy soil containing humus and minerals such as iron and calcium

5 2. Hot and humid climate
" 3. Rains at the time of ripening of the berries

#< 4. Rainfall between 150 and 250 cm

Question ID : 65497832831
Status : Answered
Chosen Option : 2

Q.2 FPI consists of securities and other financial assets passively held by foreign investors.
What is the full form of FPI?

Ans X 1. Final Payment Investment
X 2. Final Portfolio Investment
< 3. Foreign Payment Investment

" 4. Foreign Portfolio Investment

Question ID : 65497832815
Status : Answered
Chosen Option: 4




Q.3 Who is the author of the book, 'Walking with the comrades'?
Ans  &# 1. Arundhati Roy

25 2. Vikram Seth
25 3. Kiran Desai
X 4. Jhumpa Lahiri

Question ID : 65497832814
Status : Answered
Chosen Option : 4

Q.4 In September 2021, became the first IAS officer to win a medal at the Paralympics.

Ans X 1. Nishad Kumar

X 2. Devendra Jhajharia
X 3.Singhraj Adhana
«# 4. Suhas Yathiraj

Question ID : 65497832833
Status : Answered
Chosen Option : 2

Q.5 Under which of the following Schedules of the Indian Wildlife (Protection) Act, 1972 are the
Gangetic Dolphins protected?

Ans X 1.Fifth Schedule
25 2. Seventh Schedule
25 3. Third Schedule
«# 4. First Schedule

Question ID : 65497832827
Status : Answered
Chosen Option : 2

Q.6 A spring at Verinag is the source of river in the northern part of India.

Ans X 1.Beas

o 2. Jhelum

25 3. Ravi
25 4. Chenab

Question ID : 65497832823
Status : Answered
Chosen Option: 3

Q.7 In which country or state of India is Tengboche Monastery located?
Ans X 1.Sikkim

#5 2. Arunachal Pradesh

#< 3. Bhutan

« 4. Nepal

Question ID : 65497832811
Status : Answered
Chosen Option : 2




Q.8 fF=faf@a & § &= a1 uRiites e 37 verfaat & fArg s & Sit g sirems & migfas
Jrmareht i &, AR 3w &7 7 e gia &2

Ans X 1. 37T (Abiotic)
5 2. Sfia (Biome)
X 3. wnfAs (Endemic)
o 4. fasdi (Exotic)

Question ID : 65497832810
Status : Answered
Chosen Option : 4

Q.9 In which year was the Treaty of Bassein signed between Baji Rao Il, the Maratha Peshwa of
Poona in India, and the British?

Ans X 1.1820
X 2.1810
& 3.1802
X 4.1801

Question ID : 65497832820
Status : Answered
Chosen Option : 3

Q.10 Lieutenant General Gurmit Singh was appointed as the Governor of
2021.

Ans 2 1. Tamil Nadu
¥ 2. Uttarakhand
25 3. Punjab
2 4. Nagaland

in September

Question ID : 65497832832
Status : Answered
Chosen Option : 2

Q.11 What special name is given to the frictional force exerted by a fluid?
Ans X 1.Shear

X 2. Surface tension
#< 3. Buoyancy
« 4. Drag

Question ID : 65497832813
Status : Answered
Chosen Option: 4




Q.12 The tomb of Itmad-ud-Daula (or Itimad-Ud-Daulah) is situated in
Ans X 1.Fatehpur Sikri

#< 2. Shahjahanabad
25 3. Aurangabad

o 4. Agra

Question ID : 65497832829
Status : Answered
Chosen Option : 4

Q.13 The last Nawab of Awadh was .
Ans & 1. Wajid Ali Shah

< 2. Mir Jafar
< 3. Alivardi Khan
4. Mansur Ali Khan

Question ID : 65497832825
Status : Answered
Chosen Option : 2

Q.14 The Budget Division that prepares the Union Budget of India is a part of the Department of
under the Ministry of Finance.

Ans X 1.Investment and Public Asset Management

«# 2. Economic Affairs
5 3. Financial Services

X 4. Revenue

Question ID : 65497832830
Status : Answered
Chosen Option: 3

Q.15 Which fort is regarded as the first pillar of Maratha empire?
Ans X 1.Sindhudurg

X 2. Rajgad
4" 3. Prachandagad
< 4.Panhala

Question ID : 65497832826
Status : Answered
Chosen Option : 3

Q.16 Who was appointed as India's Ambassador to Cambodia in October 2020?
Ans X 1.K Nandini Singla

% 2. Manika Jain
#< 3. Narinder Chauhan
«# 4. Devyani Uttam Khobragade

Question ID : 65497832822
Status : Answered
Chosen Option : 3




Q.17 Under which Amendment was Goa accorded the status of full-fledged state?
Ans X 1.71st

2. 56th
25 3.52nd
X 4. 61st

Question ID : 65497832821
Status : Answered
Chosen Option : 3

Q.18 Which of the following teams became the runner-up at IPL 2020?
Ans X 1. Sunrisers Hyderabad

¥ 2. Delhi Capitals
2% 3. Royal Challengers Bangalore
& 4. Mumbai Indians

Question ID : 65497832809
Status : Answered
Chosen Option: 4

Q.19 How much funds were allocated for senior citizens and persons with disabilities in Union
Budget 2020?

Ans  # 1.%9,500 Cr
2 2.310,000 Cr
2 3.37,500 Cr
X 4.38,500 Cr

Question ID : 65497832819
Status : Answered
Chosen Option: 3

Q.20 An inscription comprising ten large sized signs of Harappan script was found at:
Ans X 1.Banawali

2 2. Kot Diji
«# 3. Dholavira
& 4. Kalibangan

Question ID : 65497832817
Status : Answered
Chosen Option: 3




Q.21 The ‘International Satavadhanam’ program, launched virtually by the Vice President in
November 2020 is related to:

Ans o 1. Literature
< 2. Indian Navy
< 3. Food safety
25 4. Medicine

Question ID : 65497832818
Status : Answered
Chosen Option: 3

Q.22 Which of the following countries is the second largest steel producer in the world as per the
World Steel Association (worldsteel) as of October 2020?

Ans X 1.Japan
25 2. China
25 3. Myanmar

" 4.India

Question ID : 65497832828
Status : Answered
Chosen Option : 4

Q.23 If nis the energy level index for an atom, then for the M shell, n is equal to:
Ans X 1.1

X 22
X 3.4
& 4.3

Question ID : 65497832812
Status : Answered
Chosen Option: 4

Q.24 Where was the National Badminton Championship 2019 held?
Ans X 1.Chandigarh

2. Lucknow
" 3. Guwahati
25 4.Indore

Question ID : 65497832824
Status : Answered
Chosen Option : 4




Q.25 Which of the following diseases is caused by a virus transmitted primarily by
Aedes mosquitoes?

Ans X 1. Tularemia
X 2. Malaria
o 3. Zika fever
25 4. Minamata

Question ID : 65497832816
Status : Answered
Chosen Option : 2

Section : Part C Elementary Mathematics

Q.1 A certain sum amounts to 17,925 in 3 years and to 21,825 in 7 years at the same rate per cent per annum at simple

interest. What will be the simple interest (in %) on a sum of 18,500 for 42 vears at double the earlier rate?
Ans 1. 10,582
X2 8,245
X 3. 0876
X 4. 7,625

Question ID : 65497832835
Status : Answered
Chosen Option: 1

Q.2 When an article is sold for ¥242.50, there is a loss of 3%. What will be the selling price, if the article is sold at a gain of
13%7

Ans X1. 3275.80
v 2 3282.50
X3 3270.40
X 4. F300.60

Question ID : 65497832851
Status : Answered
Chosen Option : 2

Q.3 T average of three numbers is 180. If the third mumber is greater by 10 Lhaui of the first number and less by 5 than
the second number, then the third number is:

Ans X 1. 103
2 113
X3 118
X4 115

Question ID : 65497832846
Status : Answered
Chosen Option : 2




Q.4 A person can row a yacht along the stream at a speed of 9 km/h and against the stream at a speed of 7 kivh. The speed
of the stream is:

K 1. = km/h

Ans

23]

4
/2. 2 km'h
X3 1.5 km'/h
« 4 1 km/h

Question ID : 65497832850
Status : Answered
Chosen Option : 4

Q5 4 shopkeeper sold i of his stock at a gain of 25%, and the remaining stock at a gain of 19%. His total percentage of
gain was:

Ans X 1. 12.9%
+ 2 20.5%
X< 3 18.7%
X4 22.5%

Question ID : 65497832834
Status : Answered
Chosen Option : 2

Q.6 A shoe company offers a discount of 25% and then a further discount of 42%. What is the final sale price (in ¥) of a pair
of shoes costing 72,8007

Ans 1. 1,228
X2 1,210
«3 1218
X4 1,220

Question ID : 65497832855
Status : Answered
Chosen Option: 3

Q7 Find the value of [52 — 4of (17 — 12)+ 4 X 7] +[30+15 x 5].
Ans X110

V26

X3 8

X4 12

Question ID : 65497832842
Status : Answered
Chosen Option : 2




Q.8 A vendor bought candies at 12 for Z20 and sold them at 6 for T12. Find his percentage gain or loss.
Ans 1. 20% gain

X 2. 30% loss

X 3. 15% gain

X 4 25% loss

Question ID : 65497832853
Status : Answered
Chosen Option: 1

Q.9 The average of ten consecutive odd numbers is 46. The average of smallest and the greatest number is:
Ans 21 A6

X2 50

X3 54

X4 38

Question ID : 65497832837
Status : Answered
Chosen Option: 1

1% Find the value of 5+ [6 of 2+ (3 x 7 + (5 0f 3))].

Ans
x il
25

x2 %7
15
25

o3
67

xa
5

Question ID : 65497832852
Status : Answered
Chosen Option : 3

Q.11 A sum at a certain rate of simple interest becomes ¥37.200 after 3 vears and 342,000 after 5 vears. Find the simple
interest (in ¥) on the same sum at 6% per annum for 8 years.

Ans 1. 14,000
X 2. 14,750
« 3. 14,400
X 4. 14260

Question ID : 65497832857
Status : Answered
Chosen Option: 3




Q.12 rfpcan complete i of a work in 6 days and Q can complete 41 of the same work in 9 days, how much will Q get if both
work together and are paid in advance 2210 in all?

Ans X1 140
&2 Fas5
3 T70
X 4 105

Question ID : 65497832854
Status : Answered
Chosen Option : 1

Q.13 Two numbers are in the ratio of 3 : 4. If 60% of the first number is 144, then 30% of the second number will be:

Ans X 1. 120

X2 69
« 3. 06
X492
Question ID : 65497832848
Status : Answered
Chosen Option: 3
Q.14
w2 L , then what will be the value of i ?
b 5 Sa—4b
Ans
x1. 2
11
x2 !
8
11
W3 —
3
x4 2
7

Question ID : 65497832840
Status : Answered
Chosen Option: 3

Q.15 Aman goes to his office from his house at a speed of 4 kim/h and returns at a speed of 2 kinvh. If he takes 6 hours in
going and coming, what is the distance between his house and office?

Ans X 1. 4 km
X2 6km
+ 3 8 km
X4 85km

Question ID : 65497832843
Status : Answered
Chosen Option : 3




Q.16 Two numbers are 8% and 28%, respectively, more than a third number. What is the ratio between the two numbers?
Ans  X1.5:90

X25:6

3 27:32

K4 2:7

Question ID : 65497832856
Status : Answered
Chosen Option: 3

Q.17 IfX and Y together can complete a work in 10 days, Y and Z can complete the work in 12 days, and Z and X can

complete the work in 15 days, then X alone will complete the work in:
Ans X 1. 28 days

X 2. 20 days

# 3. 30 days

« 4. 24 days

Question ID : 65497832849
Status : Answered
Chosen Option: 4

Q.18 AsumofT x is divided between A, B and C such that the ratio of shares of Aand B is 3 : 5 and that of Band C is 4 : 7.
If the difference between the shares of B and C is ¥1.453, then the value of x is:

Ans X1 T6,944
X2 33,395
« 3 36,499
x4 35,335

Question ID : 65497832838
Status : Answered
Chosen Option: 3

Q.19 A conical cavity is drilled in a solid right circular cylinder of 6 em height and 16 cm base diameter. The height and the
base diameter of the cone are the same as those of the cylinder. Determine total surface area of the remaining solid?

Ans X1 440 T cm?
X2 220m cm?
3 240 m cm?
X4 210 T cm?

Question ID : 65497832841
Status : Answered
Chosen Option: 3




Q.20 Divide T12.100 into 2 parts such that when these are invested for 3 and 4 years, respectively, at the rate of 6 % per
annum simple interest, the amounts received are equal. What is 75% of the difference between the two parts (in 3)?

Ans 1300
2 225
X 3. 400
X 4200

Question ID : 65497832839
Status : Answered
Chosen Option : 2

Q.21 A shopkeeper bought 600 oranges and 400 bananas. He found that 30% of oranges and 18% of bananas were rotten.
Find the percentage of the fiuits in good condition.

Ans X1.70.8
X2 64.8
3 T74.8
X4 788

Question ID : 65497832845
Status : Answered
Chosen Option : 3

Q.22 A metallic slab having dimensions 16 cm * 12 cm * 9 em is melted and recast in the shape of a cube. What is the

surface area (in cmz) of the cube?

Ans X 1. 865
X 2. 860
X< 3. 880
4 564

Question ID : 65497832858
Status : Answered
Chosen Option : 4

Q.23 The sum of two numbers is 342 and their HCF is 19. How many pairs of such numbers can be formed?
Ans 1 3

X2 2

X3 4

X46

Question ID : 65497832836
Status : Answered
Chosen Option: 1




Q.24 A shopkeeper offers 25% discount on the Marked Price Another shopkeeper offers three successive discounts of 5%,
12% and 10% on the same Marked Price. The difference between the discounts given by two shopkeepers is:

Ans X1, 1.12%
¥ 2 0.24%
X< 3. 2.00%
X 4 1.00%

Question ID : 65497832847
Status : Answered
Chosen Option : 2

Q25 There is a number greater than | which when divided by 4, 5 and 6 leaves the same

remainder 3 in each case. Find the largest number, smaller than 500 which satisfies
the given condition.

Ans 1. 493
X2 484
3. 483
X 4 486

Question ID : 65497832844
Status : Answered
Chosen Option: 3

Section : Part D English

Q.1 Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

Are you get irritated if someone disturbs you?
Ans & 1. Do you get irritated

25 2. No substitution required
25 3. Are you get irritate

2 4. Did you getting irritating

Question ID : 65497832874
Status : Answered
Chosen Option: 1

Q.2 Select the most appropriate option to fill in the blank.

can be taken

It is essential to understand consumer behaviour so that protective
through legislation.

Ans X 1. methods
X 2. events
" 3. measures

25 4. dealings

Question ID : 65497832863
Status : Answered
Chosen Option: 3




Q.3 Select the most appropriate SYNONYM of the given word.

Supreme
Ans X 1.Endless
«# 2. Matchless
#< 3. Careless
#< 4. Useless

Question ID : 65497832876
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate meaning of the given idiom.

All and sundry
Ans X 1.None
2. Everywhere
3. Very few
" 4. Everyone

Question ID : 65497832869
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate ANTONYM of the given word.

Beseech
Ans 4 1. Command

& 2. Appeal
25 3. Request

#< 4. Engage

Question ID : 65497832866
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate ANTONYM of the given word.

Ravish
Ans X 1. Captivate
& 2. Attract
" 3. Repel
25 4. Charm

Question ID : 65497832871
Status : Answered
Chosen Option : 4




Q.7 Select the option that can be used as a one-word substitute for the given group of words.
Something that can be carried easily
Ans o 1.Portable
X 2. Transferable
< 3. Deliverable
#< 4. Plausible

Question ID : 65497832867
Status : Answered
Chosen Option : 1

Q.8 Select the INCORRECTLY spelt word.
Ans X 1.Infectious

25 2. Valuable
«# 3. Specieal
X 4. Precious

Question ID : 65497832862
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate option to fill in the blank.

After hours of discussion, the team at the same conclusion.

Ans X 1.came

" 2. arrived
25 3. reached
X 4. attained

Question ID : 65497832872
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate option that can substitute the underlined word in the given
sentence.

The bacteria in the roots of leguminous plants submerge nitrogen in the soil to compounds.

Ans X 1.propose
X 2. expand
" 3. convert
X 4. analyse

Question ID : 65497832859
Status : Answered
Chosen Option: 3




Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

| have been / reading this book / since / two days.
Ans X 1.two days
" 2. since
25 3.1 have been
25 4. reading this book

Question ID : 65497832865
Status : Answered
Chosen Option : 2

Q.12 Select the option that can be used as a one-word substitute for the given group of words.
One who can use either hand easily
Ans X 1.Skilled
#< 2. Disabled
25 3. Single-handed
«# 4. Ambidextrous

Question ID : 65497832864
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate synonym of the given word.

Lure
Ans 1. Attraction
25 2. Warning
25 3. Repulsion
X 4. Indication

Question ID : 65497832861
Status : Answered
Chosen Option: 1

Q.14 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don't find any error,
select ‘No error’ as your answer.

Praneel is only two now / so he has not / started talk yet.
Ans & 1. started talk yet
25 2. Praneel is only two now
#< 3. s0 he has not
25 4. No error

Question ID : 65497832860
Status : Answered
Chosen Option: 1




Q.15 Select the most appropriate meaning of the given idiom.
Hold your horses
Ans X 1.Run fast
& 2. Make a profit
" 3. Be patient
#< 4. Take control

Question ID : 65497832878
Status : Answered
Chosen Option: 3

Q.16 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Did the police find out who break into your store?
Ans X 1.your store
" 2. who break into
25 3.Did the police
X 4. find out

Question ID : 65497832875
Status : Answered
Chosen Option : 4

Q.17 Select the most appropriate option to fill in the blank.

He her that he had deposited the money in the bank.
Ans X 1.assumed

25 2. ensured

«# 3. assured
X 4. insured

Question ID : 65497832870
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

The shopkeeper either offered to exchange the goods or refund the money.
Ans o 1. The shopkeeper offered either to
< 2. No substitution required’
X 3. The shopkeeper neither offered to
25 4. Either the shopkeeper offered to

Question ID : 65497832873
Status : Answered
Chosen Option: 1




Q.19 Select the option that can be used as a one-word substitute for the given group of words.
A piece of land entirely surrounded by water
Ans X 1.Igloo
25 2. Harbour
" 3. Island
5 4. Oasis
Question ID : 65497832877
Status : Answered
Chosen Option : 3
Q.20 Select the INCORRECTLY spelt word.
Ans X 1.Estimation
25 2. Substitution
«# 3. Habbitation
X 4. Presentation
Question ID : 65497832868
Status : Answered
Chosen Option : 3
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The plane had been hired to transport Appu, the baby elephant, as a gift from India to Nigeria.
Just before the (1) , the co-pilot checked the wooden crate and (2) that it looked
safe. Little did he know how (3) the flight was going to be. When the plane was (4)
Kenya, Appu broke his crate and (5) the flight cabin. The pilot made an
emergency landing in Kenya.
SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no.1.
Ans  # 1.departure

5 2. escape
< 3. retreat

25 4. evacuation

Question ID : 65497832880

Status : Answered

Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The plane had been hired to transport Appu, the baby elephant, as a gift from India to Nigeria.

Just before the (1) , the co-pilot checked the wooden crate and (2) that it looked
safe. Little did he know how (3) the flight was going to be. When the plane was (4)
Kenya, Appu broke his crate and (5) the flight cabin. The pilot made an
emergency landing in Kenya.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no.2.
Ans X 1.described
5 2. recited
" 3. reported
/5 4. narrated
Question ID : 65497832881
Status : Answered
Chosen Option: 3
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The plane had been hired to transport Appu, the baby elephant, as a gift from India to Nigeria.
Just before the (1) , the co-pilot checked the wooden crate and (2) that it looked
safe. Little did he know how (3) the flight was going to be. When the plane was (4)
____ Kenya, Appu broke his crate and (5) the flight cabin. The pilot made an
emergency landing in Kenya.
SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no.3.
Ans X 1.impressive

#< 2. unreliable
#5 3. devious
«# 4. dramatic

Question ID : 65497832882

Status : Answered

Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The plane had been hired to transport Appu, the baby elephant, as a gift from India to Nigeria.
Just before the (1) , the co-pilot checked the wooden crate and (2) that it looked
safe. Little did he know how (3) the flight was going to be. When the plane was (4)
Kenya, Appu broke his crate and (5) the flight cabin. The pilot made an
emergency landing in Kenya.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no.4.
Ans X 1.on

/5 2. between
" 3. over
5 4. beside

Question ID : 65497832883
Status : Answered
Chosen Option: 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The plane had been hired to transport Appuy, the baby elephant, as a gift from India to Nigeria.
Just before the (1) , the co-pilot checked the wooden crate and (2) that it looked
safe. Little did he know how (3) the flight was going to be. When the plane was (4)
____ Kenya, Appu broke his crate and (5) the flight cabin. The pilot made an
emergency landing in Kenya.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no.5.
Ans o 1. entered

75 2. chased
#% 3. shared
#5 4. grabbed

Question ID : 65497832884
Status : Answered
Chosen Option : 1

Section : Part D Hindi

Q.1 Ry 7y arera & Yaifha @s ot ufaeaia w7 & g aw Suge Reed @ 9o+ w3 afk 5@
ufaeanfia A Y smaasar 98 &, @t e ford aeama hY smaasmdar 98l & o1 wa= &l

& Wi @ €1
Ans X 1. el Sgatra Y saaehar T8l &1
o 2. P8
X3 adg
X 4udg

Question ID : 65497832894
Status : Not Answered
Chosen Option : --




Q.2 Ry arerr & Raifha @e ot ufaeaia #A & g 9aw Iuge Reed @1 9= w3 af 5@
ufaeufa &= Y smaaesrar 98 &, af e fordt aeema hY smaaesdar 98 & o1 oa= &1

e o eruEt T €
Ans X 1.ZTH
X 2. 3R
o 3. STO-STOT
X 4. foneft geera Y srasgendr T8l 8

Question ID : 65497832896
Status : Not Answered
Chosen Option : --

Q.3 ‘SRR @i yataar &-
Ans X 1.7geR

X 2. TR

o 3. TR

X4 SR

Question ID : 65497832898
Status : Not Answered
Chosen Option : --

Q.4 g7y arem &1 ag v ATa W oad i Jfe 31 afk i e T 8, At @i FRadi & T
et a1 aoft Reneff ()\ swdem d Q\ mefn & Rig s g G\ FE R adi 2 (4)
Ans o 1.1
X 2.4
X 3.2
X 4.3

Question ID : 65497832885
Status : Not Answered
Chosen Option : --

Q.5 HAYR I HRAATEA - AT & AT gah 2rez fAfAg-
Ans o 1. TR Wl

X 2. STt

X 3. @iflaw

X 4.9E

Question ID : 65497832899
Status : Not Answered
Chosen Option : --




Q.6 Ry 7y arerr & Raifha @e ot ufaeaia #A & g 9aw Iuge Reey @1 a9+ w3 af 5@
ufaeanfua &= Y smaaerar 98 &, af e forddt aeema hY smavaesdar 981 & o1 oa= #11

o AR FfaTagdes fdeT 31
Ans X 1. el seatra &Y sasaehar Tat &1

o 2. Sl Fde g
X 3. foayde e @
X 4 GIUYd® oY &

Question ID : 65497832895
Status : Not Answered
Chosen Option : --

Q.7 e vur hi g & g 9a Iugh ey &1 99+ &1
R AT F Yh UM BT _____ gl
Ans X 1. 3ff¥=ar
X 2.
o 3.7
X 4 gIUR

Question ID : 65497832904
Status : Not Answered
Chosen Option : --

Q.8 fRg 7y 2reg @ et g
uaet
Ans o 1. TR
X 2. g
X 3.wm@
X 4. gHg

Question ID : 65497832891
Status : Not Answered
Chosen Option : --

Q.9 SHw U Fw i AEi 81
Faifeha areg Y yfE uganfAg-
Ans o 1. fowfRkh & RO
K 2. 9™ & HROT
< 3.3 oft et et 81
25 4. 91 & BRI

Question ID : 65497832900
Status : Not Answered
Chosen Option : --




Q.10 T 7q 2reg k1 THTATAT 21z FaT3C-
SuST
Ans X 1.99H
X 2. quq
o 3.5
X 49U

Question ID : 65497832886
Status : Not Answered
Chosen Option : --

Q.11 39 fheq 1 T o STt =T HgTer o1 et oref o=k awvar 81
iR s e
Ans 1. 37YP U hAT
X 2. 3¢ Telia e
X 3. g B AT
X 4. & s T

Question ID : 65497832892
Status : Not Answered
Chosen Option : --

Q.12 g R arer - ararin & g e e @)
Ans X 1.8

o 2. TUCE

< 3. gathe

X 4

Question ID : 65497832902
Status : Not Answered
Chosen Option : --

Q.13 U - F@ifeha ez 1 A FagQ-
Ans X 1. 3mesf

X 2. v

& 3. U

X 4. frendfor

Question ID : 65497832901
Status : Not Answered
Chosen Option : --




Q.14 ‘AT @ HETAR 1 Tl 31 -
Ans X 1. HehiehT Rl
o 2. THer AT
X 3. AR
X4 R g

Question ID : 65497832903
Status : Not Answered
Chosen Option : --

Q.15 T& af-ft aret 2ree AT == <RI
Ans X 1. STTcHIET

o 2. At
X 3. srrcHtaat
X 4. st

Question ID : 65497832889
Status : Not Answered
Chosen Option : --

Q.16 & 7 are & fova v A yfe @2
# Iueht gfgarrar & aga wwifaa g
Ans X 1. 9fad gl
< 2. & 3w
3. gigAmar
X 4.99ga

Question ID : 65497832897
Status : Not Answered
Chosen Option : --

Q.17 Rk T Y gf o forg et Sugeh 21eg o1 999 &1
TSR eMUeRT "R 81
Ans X 1. UcRhl
X 2.7
X 3.9k
4. uf¥s

Question ID : 65497832893
Status : Not Answered
Chosen Option : --




Q.18 Ry M areriar & fAQ g aree HfSA-
St age aiteran gt
Ans 1. draret
X 2. ggareht
< 3. g
X 4. g

Question ID : 65497832887
Status : Not Answered
Chosen Option : --

Q.19 & ad-ft a1t U= &1 Tu= R
Ans 1. Thrfad

X 2. g

X 3. garRRE

X 4. g

Question ID : 65497832888
Status : Not Answered
Chosen Option : --

SHFRTgEA TSI Tl
Ans o 1. @BR
X 2. pfeA
X 3. @A
X 4. wden

Q.20 =k T Fi gfef & g = Iugeh 21 w1 T -

Question ID : 65497832890
Status : Not Answered
Chosen Option : --




Comprehension:

TEIeT o Ugeht IS T Ul o SR forfeg-

IR o 38T H 3R Ut & SIfARRT dle-Joy TER TeHNTE Ud i i g SIdT? 31 STaER,
1875 H ORI o 111G 7fd H Geh fhaT IRAR # ITehT ST7H g1 UT| UTGRATET Sl 13T &l H It
TG T ATI 36 TTeT Y 39 H Fehterd UgA o folg I T MY Igi 36 HEA ol e 30 FRHT & g1
foram1 1917 & 3 miefish & duh & ey fafeer T & RAaTw srfigden st & SIRA TRl SdTs,
Ter anfe & fohamt ot Tand T 3 39 Siicte A 3w Ui vd ufast e | R st srde 3
TiRa T AT AR A 378 OReR I IuTfe & SITeTTl & 9TE Bid-uid! Rard] &t geh e a1 st
fRaTI 15 3T, 1947 I gaXIaTe, HHR 3R ST o Biea: i Rawd vRa v § gffiferd g1 18
off| gl a9 o I1E T B: 1 Rarad! sl R @ § affifor fohar gexmas & Aare 3 ke foRa
at gt W1 AT ST et STeRaAYUT e & forg AeTeR foRaml 15 fRgweR, 1950 @t ST g RarT
B SIUPR H BIge I TTI T 1991 & I HRA¥ 9 GHTH fhdT 77| TadadT ST ORGR

FeeT TS o sfiait gea IRomerdt 81

SubQuestion No : 21
Q.21 T AEYEY gl ST &
Ans X 1. AT ASTUGRE

o 2. TRER TTHHTE T
< 3. ARt 4
< 4. 3rcet fogrY aroroft

Question ID : 65497832906
Status : Not Answered
Chosen Option : --

Comprehension:

TETIRT <l Tgehe U T Uil & IR fifag-

R & 38T # SR Wt & IR A16-J3W TRER TevHIS USd hl S ol SIHdT? 31 STEER,
1875 T ORI & TIfSATE ia & Yo fhaT URAR & ITerT ST=H G311 UT| UTSRITET ST ST &t H At
AT T AT| 36 TTA Gl IH H JRIAd UG h folT I TS MY IBi+ 36 AR ol et 30 AelHT 8 O
foram 1917 & @ miefish & dudh & ey fafesr g & e sifgge eriele & SRA TR, serdrs,
QT 3N & fhaTl ol Yendt fohaT| 371 39 Stigled 3 3= Ui ud ufasT feannd | wRdta st iy =
TE T &) &t 3 3% TR Y Ui &1 STl & a1e Sie-sie! Raradl et geh e sl drt
fRaTI 15 37T, 1947 dh SaXTETG, SR SR AT ot Srea Tt Ramad wra @ & affiferd gt w8
off| el gt & a1g ST ©: It Raradl st Ra T § afiferd favar Eemene & [are 3 Aty R
T BT T AsTeRR ST et STcHERTT e o forg woteR fomami 15 fegwer, 1950 @t Storrar ag fawt
&Y SitrhR # BIeae Il TTI T, 1991 H I YRR ¥ T fohaT AT | W= ST TRER
ToTHHTS &l Sfiat Geg IRumerf 21

SubQuestion No : 22
Q.22 TERIAd 2AE hl ATHRIOIh I & UG-
Ans X 1. fagiwor
X 2. fharaes g
X 3. Shfdaraes 93

& 4. raardeh 931

Question ID : 65497832907
Status : Not Answered
Chosen Option : --




Comprehension:

TEIeT o Ugeht IS T Ul o SR forfeg-

R o 38T H 3R Ut & SIfARRT dAle-Joy TER TeHNITE Ued i i Ta! SIdT? 31 STaER,
1875 H ORI o 111G 7id H Teh fhaT IRAR # ITerT ST7H g1 UT| UTGRATET Sl ST3IT &l H It
TG T ATI 36 TTeT Y 39 H FehTeld UG o folg I 0TI MY Igi- 36 HEA ol e 30 TR & g1
foram1 1917 & 3 miefish & dueh & ey fafesr o & RAaTw srfigden st & SIRA TR, SdTs,
Ter anfe & fohamT ot Tend o) I 39 Sticter A 3w Ui vd ufast e | wrdg st srde 3
TiRg T AT AR A 378 OReR ol IuTfe & SITeTTl & 9TE Bid-eid! Rard] &t geh e a1 st
fRaTI 15 3T, 1947 dh gaTaTE, HHR 3R SN o Biea: g Rard wRa v & gffiferd g1 18
off| gl a9 o a1E T ©: 1 Rarad! sl R @ 7 afiifor fohar gexmans & Aare 3 ke foRa
at gt W1 AT ST ot STeRTAYUT et & forg AeTeR foRaml 15 fRgweR, 1950 @t SHTTdT a8 RarT
&Y SIUPR H B I TTI T 1991 & I¢ HRA¥ 9 GHTH fhdT 77| TqdadT ST ORGR

FeeT TS ot sfiait gea tRomerd g1

SubQuestion No : 23
Q.23 ATATE & T8 I BIH-HT U& HUTAT?
Ans X 1. gt @
< 2. Irgufa et
o 3. e Al

< 4. TReror Y T

Question ID : 65497832908
Status : Not Answered
Chosen Option : --

Comprehension:

TETIRT <t Tgehe U T Uil & IR foifag-

R & 38T # SR Wt & SR A16-J3W TRER oIS USd i S ol SIHdT? 31 STEER,
1875 & ToRId o IfSATE ia & Yo fhar URAR & ITerT ST=H G311 UT| UTSRATET ST ST3AT &t B At
AT T AT| 36 TTA T IH H JhIeAd UG o folT I TS MY IBi+ 36 AR ol et 30 AelHT & O
famam1 1917 9 3 miefish & dudh & ey fafesr g & e sifgge eriele & SIRA TR, ST,
@ SN o e ot Yot foham| ek 39 Sifaler = 3= ufRifg d ufast a1 wiRda gt s 3
TG T | AR A 38 §RaR ol IuTfe & SITSTTl & 916 Bid-uid! Ramd! &l e e a1 st
fRaTI 15 37T, 1947 % 8aXTETG, R SR AT ot Srea Tt Ramad wra dg & affiferd gt v
off| el gt & a1g ST ©: It Raradl st Ra T § affera favar Eemeng & are 3 Aty R
T gt T AsTeRR ST et STcHERTT e o forg woTeR fomami 15 fegwer, 1950 @t Swrrar ag fawt
&Y SitrhR # BIEae Il TTI T, 1991 H I YRR ¥ T fohaT T | WdiaidT ST TRER
TeeT TS I SitaT Jeg IRUMER g1

SubQuestion No : 24
Q.24 IhI ST+H germ Tl

Ans X 1. g gRar &
X 2. ST uRaR &
X 3. Ut oRar &
o 4 e uRar &

Question ID : 65497832909
Status : Not Answered
Chosen Option : --




Comprehension:

TEITeT o U IS T Ul o SR ferfeg-

Rd o 38T H 3R Ut & SIfAGRRT dle-Joy TER ToHNITE Ued i i o SIHdT? 31 STaER,
1875 H ORI o 111G 7id H Goh fha IRAR # ITerT ST#H §31T UT| UTGRATET Sl 13T &l H It
TG T ATI 36 TTeT Y 39 H Tehteld UG o folg I T MY Igi-t 36 HEA ol e 30 TR & g1
foram1 1917 & 3 miefish & duh & ey fafesr T & RAaTw srfigdes st & SIRA TR, SdTs,
Ter anfe & fohamT ot Tand T I 39 Siicter A 3w UfRifeg vd ufast e | et Tt srde 3
TiRa T AT AR A 378 OReR ol IuTfe & SISl & aTE Bid-eid! Rard] &t geh e a1 it
fRaTI 15 3T, 1947 I gaxIaTe, HHR 3R SN o Biea: i Rard wRa v & gffferd g1 18
off| gl a9 o a1E T Bt 1 Rarad! sl R @ § afiifor fohar gexmas & Aare 3 ke foRa
at gt AT AT ST ot STeRaAYUT et & forg AeTeR foRaml 15 fRgweR, 1950 @t ST a8 RarT
B SIUPR H BIge I TTI T, 1991 & I HRA¥ 9 GHTH fhdT 77| TadadT ST ORGR

e TS o sfiait gea IRomerdt g1

SubQuestion No : 25

Q.25 SR g ____ @i gdl

Ans

& 1. 15 f&FwR, 1950
#< 2. 31 femwer, 1950
< 3.25 fegwer, 1950

25 4.15 3R, 1875

Question ID : 65497832910
Status : Not Answered
Chosen Option : --




